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$45>F4 6O?>?=5=4 6 $545D4?L=>< 7>EG44DEF65==>< 5N465F=>< =4GG=>< GGD5-

645=<< «$545D4?L=O= <EE?54>64F5?LE><= F5=FD �=EF<FGF ?D<>?44=>= D<7<>< 

<<. �.�. �4?>=>64-�D5E>64 $>EE<=E>>= 4>445<<< =4G>» (7. �<6=<= �>67>D>4) 

�D<F<4?L=O5 >??>=5=FO: �>F>6 �>=EF4=F<= �?44<<<D>6<G, 

4>>F>D D<7<>>-<4F5<4F<G5E><E =4G>, ?D>D5E-

E>D $��, 7?46=O= =4GG=O= E>FDG4=<> �=EF<-

FGF4 O45D=>= D<7<>< <<. �. �. �G4>5D4 (7. �>-

6>E<5<DE>) 

 
 %F4D<>>6 $54>D �?5>E556<G, 

4>>F>D D<7<>>-<4F5<4F<G5E><E =4G>, =4G4?L-

=<> =4GG=>-<EE?54>64F5?LE>>= ?45>D4F>D<< 

�=EF<FGF4 ?475D=>-D<7<G5E><E <EE?54>64=<= 

$>EE<=E>>7> D545D4?L=>7> O45D=>7> F5=FD4 3 
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�><>=>E>64 (7. �>E>64) 
 

�54GM4O >D74=<74F<O: $545D4?L=>5 7>EG44DEF65==>5 5N465F=>5 

GGD5645=<5 =4G>< $545D4?L=O= <EE?54>64-

F5?LE><= F5=FD «�=EF<FGF >5M5= D<7<><  

<<. �. �. �D>E>D>64 $>EE<=E>>= 4>445<<< 

=4G>» (��$ $��, 7. �>E>64) 

�4M<F4 E>EF><FEO 23 <N=O 2025 7. =4 74E544=<< 4<EE5DF4F<>==>7> E>65F4 

24.1.238.01   ?D< $���' «$�& �=EF<FGF ?D<>?44=>= D<7<>< <<. �. �. �4?>-

=>64-�D5E>64 $��» ?> 44D5EG: 603950, 7. �<6=<= �>67>D>4, G?. '?LO=>64, 46. 
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�475D=O= >><??5>E PEARL 5O? E>744= 6 ��$ $�� 6 2007 7>4G [1] =4 >E-

=>65 F5E=>?>7<< OPCPA (optical parametric chirped pulse amplification) ?4D4<5F-

D<G5E>>7> GE<?5=<O G<D?<D>64==OE <<?G?LE>6. � >E=>6G D45>FO ?475D4 ?57?< 

G=<>4?L=O5 4?O F>7> 6D5<5=< F5E=>?>7<< E<=ED>=<74F<< [2], =4=>E5>G=4=O= 

?475D=O= GE<?<F5?L (300 �6 6 1 =E) =4 =5>4<<>6>< EF5>?5 [3] < F5E=>?>7<O 

<77>F>6?5=<O L<D>>>4?5DFGD=OE KD*P >D<EF4??>6 [4]. � <><5=F E>744=<O ?4-

75D EF4? <>M=5=L5= ?4D4<5FD<G5E>>= E<EF5<>= 6 <<D5. �> < E5=G4E, E?GEFO 

?>GF< 464 45EOF>4 ?5F, ?475D >EF45FEO 6>EFD55>64==O< =4GG=O< <=EFDG<5=F>< 
4?O ?D>6545=<O, 6 ?5D6GN >G5D54L, DG=44<5=F4?L=OE =4GG=OE <EE?54>64=<=. 

�E?>?L7G5<O5 F5E=>?>7<< 6> <=>7>< >?D545?<?< >4> ?475D=O5 ?4D4<5FDO, F4> 

< ?D<>?44=GN 7=4G<<>EFL ?475D=>7> >><??5>E4. 

&5E=>?>7<O ?4D4<5FD<G5E>>7> GE<?5=<O G<D?<D>64==OE <<?G?LE>6 E>-

D>L> 74D5>><5=4>64?4 E55O, 6 ?5D6GN >G5D54L, 74 EG5F <E>?NG<F5?L=OE M>E?5-

D<<5=F4?L=OE ?4D4<5FD>6. �>-?5D6OE, 6 E<EF5<5 E>65DL5==> >FEGFEF6G5F 

?D54O<?G?LE 6=5 6D5<5==>7> >>=4 <<?G?LE4 =4>4G><, GF> ?>76>?O5F >5E>-

4<FLEO 557 4>?>?=<F5?L=OE E<EF5< ?>6OL5=<O >>=FD4EF4. �>-6F>DOE, =4 D45>-

G<E G4EF>F4E ?>6F>D5=<O D4>F<G5E>< >FEGFEF6GNF F5??>6O5 MDD5>FO 6 ?4D4-

<5FD<G5E><E >D<EF4??4E, GF> EGM5EF65==> G?D>M45F >>DD5>F<N 6>?=>6>7> 

DD>=F4 4?O >?F<<4?L=>= D>>GE<D>6>< < 4>EF<65=<O ?D545?L=>= <=F5=E<6=>-
EF< 6 ?5D5FO6>5. �-FD5FL<E, ?475D=4O E<EF5<4 >F=>E<F5?L=> F5D?<<4 > 5?<>4< 

=4744, ?>E>>?L>G GE<?5=<5 ?D< >5D4F=>< D4E?D>EFD4=5=<< G5D57 4>F<6=O= M?5-

<5=F ?>?=>EFLN >FEGFEF6G5F. �>?55 F>7>, 6 <EE>4=>= EE5<5 [1] =4 ?5D6>< >4E-

>445 ?4D4<5FD<G5E>>7> GE<?5=<O ?D><EE>4<?> ?4D4<5FD<G5E>>5 ?D5>5D47>64-

=<5 G4EF>FO (?5D5E>4 E E<7=4?L=>= =4 E>?>EFGN 6>?=G), 6E?54EF6<5 G57> ?4D4-

<5FD<G5E><= GE<?<F5?L 6O?>?=O? D>?L >?F<G5E>>= D476O7><, < 4>EF<65=<5 >5-

D4F=O< 5?<>>< EF4DF>6>= E<EF5<O 5O?> ?D<=F<?<4?L=> =56>7<>6=>. �E5 MF< 

>E>55==>EF< >55E?5G<?< 6>7<>6=>EFL D54?<74F<< D5>>D4=>= MDD5>F<6=>EF< 

674<<>45=EF6<O D5<F>E5>G=4=>7> ?475D=>7> <7?GG5=<O E 65M5EF6>< ?D< 674<-

<>45=EF6<< >4> E 747>6O<<, F4> < E F65D4>F5?L=O<< <<L5=O<< [A13A4], 4 D5-

7G?LF4FO =4E>4OFEO 6 E>D>L5< E>7?4E<< E 4=4?>7<G=O<< <EE?54>64=<O<< =4 
4DG7<E ?475D=OE GEF4=>6>4E ?> 6E5<G <<DG E> EE>6<<< ?475D=O<< ?4D4<5F-

D4<< [538]. 

� F> 65 6D5<O >F?<G<F5?L=>= >E>55==>EFLN ?4D4<5FD<G5E>>7> GE<?5=<O 

O6?ONFEO EFD>7<5 FD55>64=<O > E<=ED>=<74F<< <<?G?LE>6 E<7=4?4 < =4>4G><. 

�?O 6O?>?=5=<O MF<E FD55>64=<= 5M5 =4 MF4?5 ?D>5>F<D>64=<O ?475D=>= GEF4-

=>6>< 5O?4 D5L5=4 7444G4 M?5>FD<G5E>>= E<=ED>=<74F<< E<7=4?L=>7> <<-

?G?LE4 < <<?G?LE4 =4>4G>< [2] E 46GE D47=OE 7444NM<E 75=5D4F>D>6, D45>F4N-

M<E =4 ?D<=F<?4E <>4G?OF<< 4>5D>F=>EF< < E<=ED>=<74F<< <>4. �5446=> E<-

EF5<4 PEARL 5O?4 ?>465D7=GF4 4>?>?=<F5?L=>= <>45D=<74F<< [�5, �6], 6 D5-

7G?LF4F5 G57> >F=>E<F5?L=> =55>?LL>= 46<FF5D ?>DO4>4 50 ?E [2]  
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<564G E<7=4?>< < =4>4G>>= 5O? 4>?>?=<F5?L=> E=<65= 4> EG5?<>>E5>G=4=OE 

65?<G<= 74 EG5F ?5D5E>44 =4 >?F<G5E>GN E<=ED>=<74F<N <564G E<7=4?>< < 

=4>4G>>=. 

�4=4>> F5E=>?>7<G5E><5 E?>6=>EF<, ?D5>4>?5==O5 =4 MF4?5 ?D>5>F<D>64-

=<O, EF4?< >?NG56O< ?D5<<GM5EF6>< ?475D=>= E<EF5<O =4 MF4?5 <EE?54>64=<= 

?> =4?D46?5=<N «?45>D4F>D=4O 4EFD>D<7<>4». % 6OE>>>= F>G=>EFLN E<=ED>-

=<7<D>64==O5 =4=>E5>G=4=O= ?475D=O= 4D4=65D < D5<F>E5>G=4=>5 <7?GG5=<5 

4>?GE>4NF ?D>6545=<5 M>E?5D<<5=F>6 6 D56<<5 =4>4G>4-7>=4<D>64=<5 E 7>=-

4<DGNM<< <<?G?LE>< <E>?NG<F5?L=>7> >?F<G5E>>7> >4G5EF64, ?>76>?ONM<< 
?>?GG4FL G5F><5 <=F5DD5D><5FD<G5E><5, F5=56O5 < ?>?OD<74F<>==O5 <7>5D4-

65=<O, 4 F4>65 <4>E<<4?L=> F>G=> <EE?54>64FL 6D5<5==GN 4<=4<<>G 74 EG5F 

<4?>7> 46<FF5D4. �?O D54?<74F<< <5F>44 =4>4G>4-7>=4<D>64=<5 5O?4 D47D45>-

F4=4 >D<7<=4?L=4O EE5<4 6O6545=<O =4=>E5>G=4=>7> <<?G?LE4 <7 ?475D4 

=4>4G>< [�7], ?>76>?ONM4O <<5FL <454?L=> E<=ED>=<7<D>64==O= E E<7=4?>< 

=4=>E5>G=4=O= <<?G?LE E M=5D7<5= 4> 250 �6 557 ?>F5DL 6 M=5D7<< D5<F>E5-

>G=4=>7> <<?G?LE4. � E>6>>G?=>EF< E >D<7<=4?L=>= <<?G?LE=>= <47=<F=>= 

E<EF5<>= [�8] GEF4=>6>4 EF4?4 ?D54?474FL G=<>4?L=>5 E>G5F4=<5 GE?>6<= 4?O 

<4ELF45=>7> <>45?<D>64=<O F4><E ??47<5==OE 4EFD>D<7<G5E><E ?D>F5EE>6, 

>4> 4>>D5F<O 65M5EF64 [�9], >>??<<4F<O 465F>6 [�10], M>E?5D<<5=F4?L=>7> 

<EE?54>64=<O <47=<F>7<4D>4<=4<<G5E><E [�11] < ><=5F<G5E><E =5GEF>=G<6>-
EF5= [9] 6 ??47<5.  

&5E=>?>7<<, <E?>?L7>64==O5 6 ?475D=>= E<EF5<5, ?D5>D4E=> 74D5>><5=4>-

64?< E55O 6 E>45 ?D<>?44=OE <EE?54>64=<= < ?>MF><G ?57?< 6 >E=>6G M>E464FF-

=>7> ?D>5>F4 XCELS [�12]. �>F<6=> D476<64NM4OEO 6 ��$ $�� F5E=>?>7<O 

?>6OL5=<O ?<>>6>= <>M=>EF< CafCA  (Compression after Compression Ap-

proach) [10] 6<5EF5 E D47D45>F4==O<< ?>4E>44<< > <E?D46?5=<N 6>?=>6>7> 

DD>=F4 [�133�14], 6 G4EF=>EF< =5?<=5==OE D47>6OE <E>465=<= [�15], ?>76>-

?<?< =5 F>?L>> <=>7>>D4F=> ?>4=OFL <>M=>EFL ?475D=>= E<EF5<O [11], => < 

D4>F<G5E>< ?D>?>DF<>=4?L=> ?>4=OFL ?<>>6GN <=F5=E<6=>EFL ?D< D>>GE<-

D>6>5 [�16], GF> 4>?>?=<F5?L=> D4EL<D<?> 4<4?47>= 6>7<>6=OE ?475D=OE ?4-

D4<5FD>6 =4 <<L5=< 6 EF>D>=G 5>?LL<E <=F5=E<6=>EF5=. �E?>?L7>64=<5 F5E-
=>?>7<< CafCA 4?O 7>=4<DGNM57> <<?G?LE4 >D><5 6E57> ?D>G57> ?>76>?O5F 

?>4=OFL 6D5<5==>5 D47D5L5=<5 >?F<G5E>>= 4<47=>EF<>< D5?OF<6<EFE><E >5N-

5>F>6, >>744 MF> FD55G5FEO, =4?D<<5D, 4?O <EE?54>64=<O <7?GG4NM5= E<=7G?OD-

=>EF< BISER [�17]. 

&4><< >5D47><, 4<EE5DF4F<O ?D54EF46?O5F E>5>= 74<>=GFGN D45>FG ?> D47-

6<F<N <=DD4EFDG>FGDO ?475D=>-??47<5==>7> >><??5>E4 PEARL < ?D<<5=5=<5 

57> 4?O L<D>>>7> E?5>FD4 M>E?5D<<5=F4?L=OE <EE?54>64=<= ?475D=>7> <7?GG5-

=<O E ??47<>=. 
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�>FG4?L=>EFL F5<O 4<EE5DF4F<>==>7> <EE?54>64=<O 

�>FG4?L=>EFL ?D54EF46?5==OE 6 4<EE5DF4F<< <EE?54>64=<= D47?<G=OE D5-

6<<>6 ?475D=>-??47<5==>7> 674<<>45=EF6<O < <5F>4>6 <E 4<47=>EF<>< E6O-

74=4 E 46G<O >E=>6=O<< 4E?5>F4<<: <==>64F<>==O<< <EF>G=<>4<< 6F>D<G=>7> 

<7?GG5=<O < <7GG5=<5< ??47<5==>= 4<=4<<>< 4EFD>D<7<G5E><E >5N5>F>6. 

�EF>G=<>< 6F>D<G=>7> <7?GG5=<O, >5N54<=ONM<5 <EE?54>64=<O 6 �?465 4 

4<EE5DF4F<<, 6>EFD55>64=O 6> <=>7<E >FD4E?OE =4G><, <54<F<=O < <=4GEFD<<. 

�475D=O5 <EF>G=<>< D5=F75=>6E>>7> <7?GG5=<O >F?<G4NFEO >F EGM5EF6GNM<E 

4=4?>7>6, >E=>64==OE =4 >?4EE<G5E><E D44<>G4EF>F=OE GE>>D<F5?OE, <E>?N-
G<F5?L=>= OD>>EFLN < <4?>EFLN 75><5FD<G5E><E D47<5D>6, GF> E6O74=> E 6>7-

<>6=>EFLN >EFD>= D>>GE<D>6>< >?F<G5E>>7> <7?GG5=<O 4> <4ELF45>6 ?>DO4>4 

4?<=O 6>?=O, E>EF46?ONM5= <5=55 1 <><. % MF<<< >F?<G<O<< < E6O74=O >>=-

>GD5=F=O5 ?D5<<GM5EF64 ?475D=>-??47<5==OE <EF>G=<>>6. �D< ?>?GG5=<< 

D5=F75=>7D4D<G5E><E <7>5D465=<=, F>G5G=>EFL < <4?4O 4?<F5?L=>EFL <<-

?G?LE4 ?>76>?ONF G65?<G<64FL ?D>EFD4=EF65==>5 D47D5L5=<5, 4 ?5D5E>4 > D4-

7>>>=FD4EF=O< <5F>44< 3 G65?<G<64FL GG6EF6<F5?L=>EFL, GF> 6 E?GG45 5<>?>-

7<G5E><E >5N5>F>6 ?>76>?O5F E=<64FL ?GG56GN =47DG7>G =4 6<6O5 F>4=<. �DG-

7>5 ?D5<<GM5EF6> ?475D=>-??47<5==OE <EF>G=<>>6 E6O74=> E >><?4>F=>EFLN 

<E GE>>D<F5?L=>= G4EF<. �?O >>=65=F<>=4?L=OE D44<>G4EF>F=OE GE>>D<F5?5= 

5>?LL<5 D47<5DO E6O74=O E >5GE?>6?5==O< M?5>FD<G5E><< ?D>5>5< >7D4=<G5-
=<5< =4 <4>E<<4?L=GN 4<??<FG4G GE>>DONM<E %�'-?>?5=. � ?475D=>-??47-

<5==OE GE>>D<F5?OE, =4?D>F<6, M?5>FD<G5E><= ?D>5>= =5 O6?O5FEO ?D>5?5<>=, 

?>E>>?L>G ??47<4 <7=4G4?L=> O6?O5FEO ED54>= «6 E>EF>O=<< ?D>5>O». �4> E?54-

EF6<5, ??47<5==O5 ?>?O <>7GF 5OFL =4 ?>DO4>< E<?L=55, 4 4?<=4 GE>>D5=<O 3 

=4 ?>DO4>< <5=LL5. �475D=>-??47<5==O= GE>>D<F5?L E E4D4>F5D=O<< GE>>DO-

NM<<< ?>?O<< 1 ��/E< <>65F 5OFL ?><5M5= 6 =G6=GN >5?4EFL < >D<5=F<D>-

64= 6 =4?D46?5=<< ?>FD55<F5?O >4> F5?>5, 6 D57G?LF4F5 ?D>?4445F =5>5E>4<-

<>EFL 6 7D><>74>>= < 4>D>7>EF>OM5=, 6 E?GG45 ?GG>>6 74DO65==OE G4EF<F, <47-

=<F=>= E<EF5<5 FD4=E?>DF<D>6>< <7?GG5=<O. %>>F65FEF6GNM5<5 G45L56?5=<5 

F5E=>?>7<= <, >4> E?54EF6<5, EF><<>EF< >>47O645<OE =4 <E >E=>65 GE?G7 < F5E-

=>?>7<G5E><E ?D>F5EE>6 O6?O5FEO >E=>6=O< <>F<6>< 4>F<6=OE <EE?54>64=<=. 
�EE?54>64=<O ??47<5==>= 4<=4<<>< ?> =4?D46?5=<N «?45>D4F>D=4O 4EF-

D>D<7<>4», E>5D4==O5 6 �?465 5 4<EE5DF4F<<, =4?D>F<6, >D<5=F<D>64=O 6 

?5D6GN >G5D54L =4 ?>?GG5=<5 =>6OE 7=4=<=. � G4EF=>EF<, 6 E>45 ?45>D4F>D=>7> 

<>45?<D>64=<O ?D>6>4OFEO DG=44<5=F4?L=O5 <EE?54>64=<O ?D>F5EE>6 4>>D5-

F<< < >5D47>64=<O 4EFD>D<7<G5E><E 465F>6 4?O <=>7<E F<?>6 4EFD>D<7<G5-

E><E >5N5>F>6, >F =4E>4OM<EEO 6 =4G4?5 E6>5= M6>?NF<< ?D>F>76574 4> O45D 

74?4>F<>. �E=>6=O<< >5N5>F4<< ?45>D4F>D=>7> <>45?<D>64=<O 6 D4<>4E 4<E-

E5DF4F<< EF4?< ?D>F>76574O, ?>7?>M4NM<5 <4F5D<N <7 >>DG64NM57> 4>>D5-

F<>==>7> 4<E>4, 6 =5>>F>DOE >5?4EFOE >>F>D>7> M=?5D>6> ?>4>5<5 E ?>F>>4<< 

?475D=>= ??47<O 6O?>?=O5FEO E E>D>L5= F>G=>EFLN.  
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�F 4>>D5F<< =4?DO<GN 746<E<F M=5D7>6O45?5=<5, E?54>64F5?L=>, E65F<-

<>EFL 76574O, 4 F4>65 ?D>F5EE 75=5D4F<< >E5E<<<5FD<G=OE <EF5G5=<= (465-

F>6). &4><< >5D47><, <EE?54>64=<O <5E4=<7<>6 4>>D5F<< < O6?ONFEO >?D545-

?ONM<<< 4?O ?>=<<4=<O E>44 M6>?NF<< 76574. � D57G?LF4F5 674<<>45=EF6<O 

<47=<F>ED5DO ?D>F>76574O E 4>>D5F<>==O< 4<E>>< 6>7=<>4NF E?>6=O5 >>=-

D<7GD4F<< <47=<F=OE ?>?5= < ?>F>>>6 ??47<O. �45?N45=<O =5 ?>76>?ONF 

>?D545?<FL F>G=O= EF5=4D<= 4>>D5F<<, ?>MF><G ?45>D4F>D=O5 M>E?5D<<5=FO 

?> <>45?<D>64=<N 44==OE ?D>F5EE>6 >5?444NF >E>5>= F5==>EFLN.  

�F45?L=> >F<5G45FEO 7=4G<<>EFL D45>F 4?O ?>445D64=<O ?<4<DGNM<E ?>-
7<F<= D>EE<=E>>= =4GG=>= L>>?O =4 <564G=4D>4=>< GD>6=5. �D>6>4<<O5 <E-

E?54>64=<O 6=5E?< 7=4G<<O= 6>?44 6 EF4=>6?5=<5 ?475D=>7> >><??5>E4 

PEARL, =5 F>?L>> >4> 6>EFD55>64==>7> >5N5>F4 <<D>6>= =4GG=>= <=DD4EFDG>-

FGDO, => >4> <45>?>7<G5E>>= < F5E=>?>7<G5E>>= >E=>6O 4?O M>E464FF=>7> �-�-

?D>5>F4 XCELS.  

&5?< D45>FO 

1. �>6OL5=<5 EF45<?L=>EF< < M=5D75F<G5E>>= MDD5>F<6=>EF< ?4D4<5FD<-

G5E>>= ?5F464FF=>= D5<F>E5>G=4=>= ?475D=>= E<EF5<O.  

2. �55E?5G5=<5 =5>5E>4<<OE M>E?5D<<5=F4?L=OE GE?>6<= 4?O >><??5>E-

=>7> <EE?54>64=<O D47?<G=OE D56<<>6 ?475D=>-??47<5==>7> 674<<>45=EF6<O, 

6>?NG4O E<=ED>==GN 4>EF46>G 6 <<L5==GN >4<5DG =5E>>?L><E ?475D=OE <<-
?G?LE>6 E D47?<G=O<< G4EF>F=O<<, 6D5<5==O<< < M=5D75F<G5E><<< ?4D4<5F-

D4<<, 4 F4>65 D47D45>F>G < <77>F>6?5=<5 <<?G?LE=>= <47=<F=>= E<EF5<O E 4<-

??<FG4>= <47=<F=>= <=4G>F<< 5>?55 20 &? 4?O <EE?54>64=<= ?> =4?D46?5=<N 

«?45>D4F>D=4O 4EFD>D<7<>4».  

3. �>6OL5=<5 ?<>>6>= <=F5=E<6=>EF< ?D< D>>GE<D>6>5 D5<F>E5>G=4=>7> 

?475D=>7> <7?GG5=<O ?5F464FF=>7> GD>6=O <>M=>EF< <5F>44<< 444?F<6=>= >?-

F<><.  

4. $47D45>F>4 >><??5>E4 4<47=>EF<G5E><E <5F>4>6 < >5>DG4>64=<O E GG5-

F>< E?5F<D<>< ?475D=>7> >><??5>E4 PEARL < <EE?54G5<OE D56<<>6 ?475D=>-

??47<5==>7> 674<<>45=EF6<O.  

5. $47D45>F>4 ?475D=>-??47<5==OE <EF>G=<>>6 6F>D<G=>7> <7?GG5=<O 4?O 
DG=44<5=F4?L=OE < ?D<>?44=OE <EE?54>64=<=.  

6. �45>D4F>D=>5 <EE?54>64=<5 4<=4<<>< =4=>E5>G=4=>= ?475D=>= ??47<O 

6 ?D<EGFEF6<< E<?L=>7> 6=5L=57> <47=<F=>7> ?>?O. 

�E=>6=O5 7444G< <EE?54>64=<O  

1. �O5>D >?F<<4?L=>= 4DE<F5>FGDO EF4DF>6>= G4EF< ?475D=>7> >><??5>E4 

PEARL.  

2. �55E?5G5=<O 6 <<L5==>= >4<5D5 D5<F>E5>G=4=>7> 7>=4<DGNM57> <<-

?G?LE4 < <>M=>7> =4=>E5>G=4=>7> <<?G?LE4 ?D< GE?>6<< >?F<G5E>>= 
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E<=ED>=<74F<< E 4D4=65D>< < E>ED4=5=<< M=5D7<< <>M=>7> D5<F>E5>G=4=>7> 

<<?G?LE4.  

3. �>446?5=<5 6 <<?G?LE5 =4>4G>< 6D5<5==OE <E>465=<=, 6O764==OE GE<-

?5=<5< 6 D56<<5 =4EOM5=<O.  

4. �>6OL5=<5 >4G5EF64 D>>GE<D>6>< ?5F464FF=>7> ?475D=>7> <7?GG5=<O 74 

EG5F ?>6OL5=<O F>G=>EF< >4?<5D>6>< 444?F<6=>= E<EF5<O >>DD5>F<< 6>?=>-

6>7> DD>=F4.  

5. �>6OL5=<5 F>G=>EF< ?>7<F<>=<D>64=<O <<L5=< >F=>E<F5?L=> ?5D5-

FO6>< ?475D=>7> <7?GG5=<O.  
6. �><?5=E4F<O =5?<=5==OE D47>6OE <E>465=<= ?D< =5?<=5==>< ?>6OL5-

=<< 6OE>4=>= <>M=>EF< CafCA D5<F>E5>G=4=>7> <<?G?LE4 <5F>44<< 444?-

F<6=>= >?F<><.  

7. �44?F4F<O E?5>FD><5FD>6 5OEFDOE G4EF<F < D5=F75=>6E>>7> <7?GG5=<O 

4?O >E>55==>EF5= GEF4=>6>< PEARL < E?5F<D<G5E><E ?4D4<5FD>6 ?475D=>-

??47<5==>7> 674<<>45=EF6<O.  

8. �>6OL5=<5 F>G=>EF< 6>EEF4=>6?5=<O E?5>FD>6 G4EF<F, GE>>D5==OE 6 

E>45 ?475D=>-??47<5==>7> 674<<>45=EF6<O.  

9. �>6OL5=<5 <=D>D<4F<6=>EF< >?F<G5E>>= 4<47=>EF<>< D5?OF<6<EFE><E 

>5N5>F>6 ?D< ?><>M< =5?<=5==> G>>D>G5==>7> 7>=4<DGNM57> <<?G?LE4. 

10. �EE?54>64=<5 746<E<<>EF< E6>=EF6 6F>D<G=>7> <7?GG5=<O ?D< D47?<G-
=OE ?4D4<5FD4E D>>GE<D>6>< =4 <<L5=L < ??>F=>EFOE >5D47GNM5=EO ??47<O 

(=<7>>??>F=O5 1018 E<33, >>>?>>D<F<G5E><5 1021 E<33, F65D4>F5?L=O5 1023 E<33). 

11. �EE?54>64=<5 D4E?D>EFD4=5=<O =4=>E5>G=4=>= ?475D=>= ??47<O ?>?5-

D5> E<?L=>7> 6=5L=57> <47=<F=>7> ?>?O.  

12. �EE?54>64=<5 6>7<>6=>EF< >>??<<4F<< =4=>E5>G=4=>= ?475D=>= 

??47<O 6=5L=<< <47=<F=O< ?>?5<. 

�4GG=4O =>6<7=4 

1. �D54?>65=4 6>7<>6=>EFL ?>6OL5=<O EF45<?L=>EF< 6OE>4=OE ?4D4<5F-

D>6 D5<F>E5>G=4=>= ?5F464FF=>= ?4D4<5FD<G5E>>= ?475D=>= E<EF5<O 74 EG5F 

>?F<G5E>>= E<=ED>=<74F<< E<7=4?L=>7> <<?G?LE4 E <<?G?LE>< =4>4G><. 

2. �D54?>65= <5F>4 >><?5=E4F<< <E>465=<= >7<54NM5= <<?G?LE4, 6>7=<-
>4NM<E ?D< GE<?5=<< 6 D56<<5 =4EOM5=<O, 74 EG5F G<5D5==>= G4EF>F=>= <>-

4G?OF<< <<?G?LE4 =4 D4EFGM5< GG4EF>5 >D<6>= E5G5=<O GE<?5=<O 4>F<6=>= 

ED54O.  

3. $47D45>F4= >D<7<=4?L=O= >4=><<?G?LE=O= E?5>FD><5FD 4?O G7>>=4-

?D46?5==OE >647<<>=>MD75F<G5E><E M?5>FD>==OE ?GG>>6, GE>>D5==OE ><?L64-

F5D=>= ??47<5==>= 6>?=>= E ?475D=O< 4D4=65D><. 

4. $47D45>F4= =>6O= <5F>4 >4?<5D>6>< 444?F<6=>= >?F<G5E>>= E<EF5<O, 
?>76>?ONM<= ?>6OE<FL >4G5EF6> D>>GE<D>6>< 6 ?D<EGFEF6<< 4<=4<<G5E><E 

64D<4F<= 6>?=>6>7> DD>=F4. 
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5. �D>6545=4 MDD5>F<6=4O >>DD5>F<O 6>?=>6>7> DD>=F4 <7?GG5=<O ?>E?5 
=5?<=5==>= >><?D5EE<< =4 ?5F464FF=>< GD>6=5 <>M=>EF<. 

6. �D54?>65= <5F>4 ?>6OL5=<O <=D>D<4F<6=>EF< 4<47=>EF<>< =4>4G>4-
7>=4<D>64=<5 D5?OF<6<EFE><E E<=7G?OD=>EF5= ?475D=>= ??47<O ?D< ?><>M< 

=5?<=5==>7> G>>D>G5=<O 7>=4<DGNM57> D5<F>E5>G=4=>7> <<?G?LE4. 
7. �D54?>65= <5F>4 =46545=<O ?5D5FO6>< ?475D=>7> <<?G?LE4 =4 >EFDO= 

>D4= F65D4>F5?L=>= <<L5=< E EG5DM?556E>>= F>G=>EFLN.  
10. �D>45<>=EFD<D>64=O D5>>D4=O5 7=4G5=<O M=5D7<< >FE5G>< ?D>F>=>6, 

GE>>D5==OE ?>?5< 6<DFG4?L=>7> >4F>44. 
11. �D54?>65= <5E4=<7< >5D47>64=<O 4EFD>D<7<G5E><E 465F>6 6 ?D>F>-

765744E, >5GE?>6?5==O= ?D<EGFEF6<5< >4=>D>4=>7> ?>?><44?L=>7> <47=<F-
=>7> ?>?O < ?>?><44?L=>7> ?>?O 6 E6>=EF65==>= 4?O ?D>F>76574 =5>4=>D>4=>= 

casp->>=D<7GD4F<<.  
12. � M>E?5D<<5=F5 >5=4DG65=> ?D>=<>=>65=<5 =4=>E5>G=4=>= ?475D=>= 

??47<O ?>?5D5> 6=5L=57> <47=<F=>7> ?>?O, 446?5=<5 >>F>D>7> ?D56>EE>4<F 

4<=4<<G5E>>5 446?5=<O ??47<O, E >5D47>64=<5< ??47<5==>= EFDG>FGDO 6 
D>D<5 ?<EF4. �?O <EF>G=<>4 ?475D=>= ??47<O, 6OFO=GF>7> ?>?5D5> <47=<F=>7> 

?>?O, <EF5G5=<5 >5D47G5F =5E>>?L>> ?4D4??5?L=OE ??47<5==OE ?<EF>6, D4E?D>-
EFD4=ONM<EEO >F <<L5=<. 

&5>D5F<G5E>4O < ?D4>F<G5E>4O 7=4G<<>EFL 

$47D45>F4==O= 6 D4<>4E 4<EE5DF4F<< >><??5>E M>E?5D<<5=F4?L=OE <5F>-

4<> < 4<47=>EF<G5E><E ?>4E>4>6 EF4? >E=>6>= 4?O L<D>>>7> >DG74 <EE?54>64-

=<=. ->E?5D<<5=FO, ?D>6545==O5 =4 >><??5>E5, G>D5?<?< 6 =4GG=>< E>>5M5-

EF65 74 ?475D=>= E<EF5<>= PEARL D5?GF4F<N ?5D54>6>= D>EE<=E>>= ?475D=>-

??47<5==>= GEF4=>6>< < ?>E?G6<?< 65D<D<>4F<5= <E?>?L7G5<OE F5E=>?>7<=, 

F4><E >4> ?4D4<5FD<G5E>>5 GE<?5=<5 G<D?<D>64==OE <<?G?LE>6, >?F<G5E>4O 

E<=ED>=<74F<O <<?G?LE4 =4>4G>< E E<7=4?L=O< <<?G?LE><, =5?<=5==4O >><-

?D5EE<O CafCA < >>DD5>F<O E>?GFEF6GNM<E =5?<=5==OE D47>6OE <E>465=<=; 

74?>6<?< F5E=>?>7<G5E>GN 547G 4?O 4>FG4?L=OE ?D>5>F>6 <>M=OE ?475D=OE 
E<EF5<  [�12, 12, 13]. 

�>DD5>F<O 6>?=>6>7> DD>=F4 <<55F >?D545?ONM55 7=4G5=<5 ?D< >55E?5G5-

=<< D56<<>6 ?475D=>-??47<5==>7> 674<<>45=EF6<O, 6 >>F>DOE >?NG56O< ?4-

D4<5FD>< O6?O5FEO ?<>>64O <=F5=E<6=>EFL <7?GG5=<O. � F4><< D56<<4< >F=>-

E<FEO 6 ?5D6GN >G5D54L D56<<O 674<<>45=EF6<O E F65D4>F5?L=O<< < >>>?>-

>D<F<G5E><<< <<L5=O<<. � >FEGFEF6<5 4>?6=>7> >4G5EF64 D>>GE<D>6>< ?4D4-

<5FDO 674<<>45=EF6<O EGM5EF65==O< >5D47>< <7<5=ONFEO, E=<645FEO MDD5>-

F<6=>EFL ?D5>5D47>64=<O ?475D=>= M=5D7<< 6 M=5D7<N 6F>D<G=>7> <7?GG5=<O. 

&4><< >5D47><, D47D45>F4==O5 ?>4E>4O > >>DD5>F<< 6>?=>6>7> DD>=F4 O6?O-

NFEO DG=44<5=F>< 4?O =4EF>OM<E < 5G4GM<E <EE?54>64=<=. 

�5F>4 =5?<=5==>7> G>>D>G5=<O ?475D=OE <<?G?LE>6 CafCA >F>DO645F L<-
D>><5 6>7<>6=>EF< 4?O ?>6OL5=<O ?<>>6>= <>M=>EF< D4>F<G5E>< ?N5>= EG-

M5EF6GNM5= D5<F>E5>G=4=>= <?< ?<>>E5>G=4=>= ?475D=>= E<EF5<O. 
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�D>45<>=EFD<D>64==4O 6 D45>F5 6>7<>6=>EFL ?>6OL5=<O E?>E>5=>EF< ?>EF-

>><?D5EE<>==>7> <7?GG5=<O > D>>GE<D>6>5 74 EG5F 444?F<6=>= >?F<G5E>>= E<-

EF5<O =4 >E=>65 5<<>DD=>7> 75D>4?4 E G?D46?O5<>= D>D<>= >FD464NM5= ?>-

65DE=>EF< D4EL<DO5F ?D<>?44=GN 7=4G<<>EFL ?>4E>44 CafCA.  

�EE?54>64=<O ?> =4?D46?5=<N «?45>D4F>D=4O 4EFD>D<7<>4» D4>F<G5E>< 

74?>6<?< DG=44<5=F E>6D5<5==>= ?45>D4F>D=>= 4EFD>D<7<>< E <E?>?L7>64-

=<5< ?475D>6.  

�D54?>65==4O 6 D45>F5 EE5<4 >4=><<?G?LE=>7> 46GEM>D4==>7> E?5>FD>-

<5FD4 GE>>D5==OE M?5>FD>=>6 L<D>>> <E?>?L7G5FEO 6 ?45>D4F>D<OE ?> 6E5<G 
<<DG 6 M>E?5D<<5=F4E ?> GE>>D5=<N M?5>FD>=>6 6 ?>?5 ><?L64F5D=>= 6>?=O E 

?475D=O< 4D4=65D><, F. >. ?>76>?O5F D47D5L<FL =5>?D545?5==>EFL, E6O74==GN E 

64D<4F<O<< G7?4 6O?5F4 M?5>FD>==>7> ?GG>4 <7 >5?4EF< 674<<>45=EF6<O. 

�EE?54>64=<O ?> D>>GE<D>6>5 < =46545=<N =4 <<L5=L ?57?< 6 >E=>6G >>=-

F5?FG4?L=>7> 4<74==4 E<EF5<O E6545=<O ?GG>>6 ?D>5>F4 XCELS [�12].  

->E?5D<<5=F4?L=O5 <EE?54>64=<O D56<<>6 75=5D4F<< 6F>D<G=>7> <7?GG5-

=<O 74?>6<?< >E=>6G 4?O D47D45>F>< 6 5G4GM5< >><?4>F=OE < MDD5>F<6=OE 

<EF>G=<>>6 6F>D<G=>7> <7?GG5=<O 4?O E>F<4?L=> 7=4G<<OE ?D<?>65=<= 6 <=-

4GEFD<<, <54<F<=5 < 7444G4E >55E?5G5=<O 557>?4E=>EF<. 

�D4F>>5 >?<E4=<5 D45>FO 

�<EE5DF4F<O E>EF><F <7 ?OF< 7?46, E>45D64M<E >?<E4=<5 <EE?54>64=<= < 
<5D>?D<OF<= ?> D476<F<N =4GG=>-<EE?54>64F5?LE>>= <=DD4EFDG>FGDO =4 ?4-

75D=>-??47<5==>< >><??5>E5 PEARL.  

�?464 1 ?>E6OM5=4 6>7<>6=>EF< >55E?5G5=<O =4 ?475D=>< >><??5>E5 

PEARL FD55G5<OE M>E?5D<<5=F4?L=OE GE?>6<=: D4EE<>FD5=4 4DE<F5>FGD4 ?4-

75D=>= E<EF5<O E G45?5=<5< >E>5>7> 6=<<4=<O 4E?5>F4<, E6O74==O< E E<=ED>-

=<74F<5= < G?D46?5=<5< ?4D4<5FD4<< D47?<G=OE F<?>6 ?475D=>7> <7?GG5=<O < 

6>7<>6=>EFLN <E >4=>6D5<5==>= 4>EF46>< 6 <<L5==GN >4<5DG; >?<EO645FEO 

>D<7<=4?L=4O <<?G?LE=4O <47=<F=4O E<EF5<4 4?O >55E?5G5=<O <EE?54>64=<= 

?> =4?D46?5=<N «?45>D4F>D=4O 4EFD>D<7<>4».  

�475D=O= >><??5>E PEARL <E?>?L7G5F F5E=>?>7<N ?4D4<5FD<G5E>>7> GE<-

?5=<O G<D?<D>64==OE <<?G?LE>6 OPCPA [14, 15] =4 >D<EF4??4E KD*P, G5< >5G-
E?>6?5= F5?O= DO4 >>=EFDG>F<6=OE >E>55==>EF5=, 6>?NG4O FD55>64=<O > 6D5-

<5==><G ?D>D<?N =4>4G>< < 57> E<=ED>=<74F<< E G<D?<D>64==O< E<7=4?L=O< 

<<?G?LE><. �>E?54=<= ?D< GE<?5=<< E>45D6<F ?<=5==GN G4EF>F=GN <>4G?O-

F<N, 6 D57G?LF4F5 G57> D47?<G=O5 E?5>FD4?L=O5 >><?>=5=FO GE<?<64NFEO ?>-

E?54>64F5?L=>, 6 D47?<G=O5 <><5=FO 6D5<5=<, <, >4> E?54EF6<5, E?5>FD4?L=O= 

>>MDD<F<5=F GE<?5=<O ?>6F>DO5F 6D5<5==>= ?D>D<?L <<?G?LE4 =4>4G><. �N-

5>5 <E>465=<5 MF>7> <<?G?LE4, <?< E<5M5=<5 ?> 6D5<5==>= >E< >F=>E<F5?L=> 

E<7=4?4, ?D<6>4<F > <>4G?OF<O< E?5>FD4 GE<?5==>7> E<7=4?4 < 64D<4F<O< 4?<-

F5?L=>EF< <<?G?LE4 ?>E?5 >><?D5EE<<. �> MF>= ?D<G<=5 D>D<<D>64=<N 
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?D>D<?O <<?G?LE4 =4>4G>< < 57> E<=ED>=<74F<< E E<7=4?>< =4 6E5E MF4?4E D47-

D45>F>< ?475D4 G45?O?>EL >E>5>5 6=<<4=<5.  

� <EE>4=>= >>=EFDG>F<< PEARL [1] <E?>?L7>64?4EL >D<7<=4?L=4O E<EF5<4 

E<=ED>=<74F<< [2] 46GE =5746<E<<OE ?475D=OE <EF>G=<>>6, D45>F4NM<E =4 

D47?<G=OE ?D<=F<?4E: D5<F>E5>G=4=>7> 7444NM57> 75=5D4F>D4, ?>EFD>5==>7> 

=4 ?D<=F<?4E E<=ED>=<74F<< <>4, < =4=>E5>G=4=>7> ?475D=>7> <EF>G=<>4, <E-

?>?L7GNM57> <>4G?OF<N 4>5D>F=>EF<. �4==4O E<EF5<4 [2] ?D< <454?L=>= 

=4EFD>=>5 >55E?5G<64?4 6 D44<>F5E=<G5E>>< E<OE?5 M>EFD5<4?L=> <4?O= 

46<FF5D <564G E<7=4?L=O< <<?G?LE>< < <<?G?LE>< =4>4G><, ?D<5?<64N-
M<=EO > 50 ?E. �4=4>> ?>445D64=<5 <4?>7> 46<FF5D4 FD55>64?> ?>EF>O==>= 

?>4EFD>=>< ?475D=>= E<EF5<O, GF> ?D<6>4<?> > EGM5EF65==><G E=<65=<N EF4-

5<?L=>EF< 6OE>4=>7> E<7=4?4 6 D56<<5 LF4F=>= M>E??G4F4F<<. 

� >4G5EF65 D44<>4?L=>7> <5F>44 E=<65=<O 46<FF5D4 =4 >><??5>E5 PEARL 

6 4<EE5DF4F<>==>= D45>F5 ?D54?>65= 4?LF5D=4F<6=O= ?>4E>4 E <E?>?L7>64-

=<5< >?F<G5E>>= E<=ED>=<74F<<, 6 D4<>4E >>F>D>7> E<7=4?L=O= <<?G?LE < <<-

?G?LE =4>4G>< D>D<<DGNFEO <7 >4=>7> < F>7> 65 74FD46>G=>7> <<?G?LE4 E <E-

?>?L7>64=<5< <5F>4>6 =5?<=5==>= >?F<><: 75=5D4F<< EG?5D>>=F<=GG<4 [16, 

17], ?4D4<5FD<G5E>>7> GE<?5=<O [14], 75=5D4F<< 6F>D>= 74D<>=<>< [18] < ?D5-

>5D47>64=<O G4EF>FO [19]. �D< MF>< >F=>E<F5?L=4O 7445D6>4 <564G E<7=4?L-

=O< <<?G?LE>< < <<?G?LE>< =4>4G>< >?D545?O5FEO ?<LL D47?<G<O<< 6 >?F<-
G5E>>= 4?<=5 ?GF5= < E=<645FEO 4> D5<F>E5>G=4=OE 7=4G5=<=. �>?>?=<F5?L-

=O<< ??NE4<< ?>4E>44 EF4? 5>?55 L<D>><= E?5>FD E<7=4?4, 6>7<>6=>EFL D54-

?<74F<< ?4EE<6=>= EF45<?<74F<< D47O E<7=4?4 >F=>E<F5?L=> >7<54NM5= [20] 

< 6>7<>6=>EFL E?5>FD4?L=>7> G?D46?5=<O >7<54NM5= =4=>E5>G=4=>7> <<-

?G?LE4 ?4EE<6=O<< <5F>44<< [21, 22], E6O74==4O E> E?5F<D<G=>= 4?O >?F<G5-

E>>= E<=ED>=<74F<< ?<=5==>= G4EF>F=>= <>4G?OF<5= <<?G?LE4 =4>4G><. 

�D< >?F<G5E>>= E<=ED>=<74F<< E<7=4?L=O= <<?G?LE < <<?G?LE =4>4G>< 

<>6=> D4EE<4FD<64FL 6 >4G5EF65 D47?<G=OE E?5>FD4?L=OE E>EF46?ONM<E >4-

=>7> E65DEL<D>>>?>?>E=>7> >?F<G5E>>7> <<?G?LE4. �D< MF>< 4?O E>7?4E>64-

=<O 4?<F5?L=>EF5=, FD55G5<>7> ?D< ?4D4<5FD<G5E>>< GE<?5=<<, EFD5FG<D>64-

=<N ?>465D74NFEO >54 <<?G?LE4, >4> E<7=4?L=O=, F4> < <<?G?LE =4>4G><. 
%?5>FD ?>E?54=57>, >4=4>>, <>65F 5OFL 4>EF4F>G=> G7><<, GF>5O E>ED4=O?4EL 

6>7<>6=>EFL MDD5>F<6=>7> GE<?5=<O 6 ?475D=OE ED544E, F4><E >4> Nd:YLF, < 

Nd:Glass, <E?>?L7G5<OE 6 <>M=OE =4=>E5>G=4=OE ?475D4E.  

�E?>?L7>64=<5 G<D?<D>64==>7> <<?G?LE4 =4>4G><, L<D<=4 E?5>FD4 >>F>-

D>7> E>?>EF46<<4 E L<D<=>= E?5>FD4 GE<?5=<O 4>F<6=>= ED54O, E >4=>= EF>-

D>=O, FD55G5F F>G=>7> E>7?4E>64=<O MF<E E?5>FD>6, E 4DG7>=, 445F 4>?>?=<F5?L-

=GN 6>7<>6=>EFL ?>446?5=<O <E>465=<= 6D5<5==>= >7<54NM5= <<?G?LE4 ?D< 

GE<?5=<< 6 D56<<5 =4EOM5=<O [23]. -F4 6>7<>6=>EFL <EE?54>64=4 6 D4745?5 

1.3.2 4<EE5DF4F<<.  

�E>465=<5 >7<54NM5= <<?G?LE4 ?D< GE<?5=<< 6 D56<<5 =4EOM5=<O O6?O-

5FEO EGM5EF65==>= ?D>5?5<>= 4?O <>M=OE =4=>E5>G=4=OE ?475D=OE E<EF5<. 

�E?< 6 E>45 GE<?5=<O 74 >4<= ?D>E>4 G5D57 4>F<6=O= M?5<5=F E=<<45FEO 
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EGM5EF65==4O G4EFL M=5D7<<, 74?4E5==>= 6 <=65DE<<, >>MDD<F<5=F GE<?5=<O 

GE?5645F 74<5F=> <EF>M<FLEO ?> <5D5 ?D>E>645=<O <<?G?LE4, GF> ?D<6>4<F > 

=5D46=><5D=>EF< GE<?5=<O, ?D>O6?ONM5=EO 6 <E>465=<< 6D5<5==>= >7<54N-

M5= <<?G?LE4. $4E?D>EFD4=5==O<< <5F>44<< 5>DL5O E F4><<< <E>465=<O<< 

O6?ONFEO <5F>4O ?D5464D<F5?L=>7> ?D>D<?<D>64=<O <<?G?LE4, >>F>DO5, >4-

=4>>, E>?DO65=O E F5E=>?>7<G5E><<< E?>6=>EFO<<. 

� D45>F5 ?D54?4745FEO 6>E?>?L7>64FLEO G4EF>F=>= <>4G?OF<5= <<?G?LE>6 

=4>4G>< 6 >?F<G5E>< E<=ED>=<7>64==>< OPCPA, >>F>D4O 4>?GE>45F E?5>FD4?L-

=O5 <5F>4O G?D46?5=<O >7<54NM5=. �?O MF<E F5?5= E?5>FD <<?G?LE4 =4>4G>< 
E ?<=5==>= G4EF>F=>= <>4G?OF<5= ?D<=G4<F5?L=> E<5M45FEO 6 >5?4EFL ?>?>-

6<F5?L=>7> =4>?>=4 E?5>FD4?L=>= 746<E<<>EF< E5G5=<O GE<?5=<O 4>F<6=>= 

ED54O, GF> ?>76>?O5F >><?5=E<D>64FL E=<65=<5 >>MDD<F<5=F4 GE<?5=<O, E6O-

74==>5 E <EF>M5=<5< <=65DE<<, 74 EG5F E?5>FD4?L=>7> D>EF4 E5G5=<O GE<?5=<O. 

� D45>F5 ?>?GG5=> 4=4?<F<G5E>>5 6OD465=<5 E?5>FD4?L=>= 746<E<<>EF< E5G5-

=<O GE<?5=<O, ?D< >>F>D>= E>ED4=O5FEO ?DO<>G7>?L=4O D>D<4 <<?G?LE4. $5-

7G?LF4F ?>4F65D6445FEO (D<E. 1, 5) G<E?5==O< <>45?<D>64=<5< < M>E?5D<<5=-

F><, >>F>DO5 ?>>47O64NF, GF> 4465 ?D< >F?<G<OE D>D<O E?5>FD4?L=>= 746<E<-

<>EF< E5G5=<O GE<?5=<O D54?L=>= 4>F<6=>= ED54O >F FD55G5<>= 4?O E>ED4=5-

=<O 6D5<5==>= >7<54NM5= <>6=> 4>5<FLEO EGM5EF65==>7> E=<65=<O 6D5<5=-

=OE <E>465=<= < E=<7<FL FD55>64=<O > 4<??<FG45 ?D5464D<F5?L=>7> ?D>D<?<-
D>64=<O.  

 

4       5   
 

$<E. 1. �D<=F<?<4?L=4O EE5<4 ?475D4 PEARL (4); 5 3 45<>=EFD4F<O 6>7<>6=>EF< ?>-
446?5=<O <E>465=<= <<?G?LE4 =4>4G>< >?F<G5E>< E<=ED>=<7>64==>7> OPCPA 74 EG5F 
GE<?5=<O =4 D4EFGM5< GG4EF>5 E?5>FD4?L=>= 746<E<<>EF< E5G5=<O GE<?5=<O 4?O <<-
?G?LE4 =4>4G>< E ?>?>6<F5?L=O< G<D?>< (E5D4O E??>L=4O >D<64O), >FD<F4F5?L=O< G<D-
?>< (?G=>F<D=4O >D<64O) < 6 <>=>ED><4F<G5E>>< E?GG45 (G5D=4O E??>L=4O >D<64O) 4?O 
>4=>7> < F>7> 65 ��� = 40 %. �G=>F<D=4O ?<=<O E>>F65FEF6G5F ?>?>6<F5?L=><G G<D-

?<D>64==><G <<?G?LEG E ?D5464D<F5?L=O< ?D>D<?<D>64=<5< 

�>EF<7=GF4O =4 MF4?5 E>744=<O [1] < <>45D=<74F<< [�6] ?475D=>= E<EF5<O 
6OE>>>F>G=4O E<=ED>=<74F<O <564G E<7=4?L=O< <<?G?LE>< < <<?G?LE>< 

=4>4G>< >55E?5G<?4 F5E=<G5E>GN 6>7<>6=>EFL ?D>6545=<O <EE?54>64=<= ?> 
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=4?D46?5=<N «?45>D4F>D=4O 4EFD>D<7<>4», >5N5>F>< >>F>DOE O6?O5FEO 4<=4-

<<>4 ?475D=>= ??47<O 6 GE?>6<OE, ?>4>5=OE 4EFD>D<7<G5E><<. �>7<>6=>EFL 

E<=ED>==>7> ?>EFG??5=<O 6 <<L5==GN >4<5DG =4=>E5>G=4=>7> <7?GG5=<O 

M=5D7<5= 4> E>F5= 46>G?5= >4=>6D5<5==> E D5<F>E5>G=4=O<< <<?G?LE4<< 

?>76>?<?> =5 F>?L>> E>74464FL ??47<5==O5 ?>F>>< D47?<G=OE F>?>?>7<=, => < 

4<47=>EF<D>64FL <E >?F<G5E><<< <5F>44<< E ?D<<5=5=<5< ?>4E>44 =4>4G>4-

7>=4<D>64=<5.  

�>?>?=<F5?L=> D4EL<D<FL >DG7 4>EFG?=OE M>E?5D<<5=F4?L=OE 7444G ?> 

=4?D46?5=<N ?>76>?<?> <E?>?L7>64=<5 >D<7<=4?L=>= <47=<F=>= E<EF5<O, 
?D54EF46?5==>= 6 D4745?5 1.2.5 4<EE5DF4F<< < >55E?5G<64NM5= D47?<G=O5 75>-

<5FD<G5E><5 >>=D<7GD4F<< <47=<F=>7> ?>?O E 4<??<FG4>= <=4G>F<< 4>  

20 &?, 6>?NG4O >647<>4=>D>4=GN >>=D<7GD4F<N 6 >5N5<5, ?D56OL4NM5< >4<= 

>G5<G5E><= E4=F<<5FD < cusp->>=D<7GD4F<N, 6>7=<>4NMGN ?D< 6EFD5G=>< 

6>?NG5=<< >4FGL5> �5?L<7>?LF4 (D<E. 2 < 44?55 D<E. 19, 5, 6).  
 

 

$<E. 2. �>=EFDG>F<O <<?G?LE=>= <47=<F=>= E<EF5<O. $4EG5F=O5 >>=D<7GD4F<<  
<47=<F=>7> ?>?O 6 E<EF5<5 <7>5D465=O =<65, =4 D<E. 19, 5, 6 

 

$57G?LF4FO �?46O 1 >?G5?<>>64=O 6 D45>F4E [�43�6, �8, �12, �183�20]. 

�?464 2 ?>E6OM5=4 D45>F4< ?> >?F<<<74F<< D>>GE<D>6>< ?475D=>7> <7?G-

G5=<O < <5F>44< =46545=<O =4 <<L5=L. � ?4D47D4D5 2.1 ?D>6>4<FEO >5M4O ?>-
EF4=>6>4 7444G< > D>>GE<D>6>5 ?475D=>7> <7?GG5=<O. �D><EE>4<F ?>=OF<==>5 

>?<E4=<5 ?>>4?<74F<< >?F<G5E>>7> ?>?O 6 D>>GE5 ?D< ?><>M< D>D<4?<7<4 

DGDL5-?D5>5D47>64=<O E GG5F>< 57> D<7<G5E>>7> E<OE?4, 4 <<5==>, D47?>65=<O 

<7?GG5=<O ?> ??>E><< <>=>ED><4F<G5E><< 6>?=4< ?D< ?D>EFD4=EF65==>< ?D5-

>5D47>64=<< < D47?>65=<O =4 <>=>ED><4F<G5E><5 E>EF46?ONM<5 ?D< 4=4?<75 

6D5<5==>= 4<=4<<><.  
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� ?4D47D4D5 2.2 ?D>6>4<FEO >?<E4=<5 547>6OE ?D<=F<?>6 DG=>F<>=<D>64-

=<O 444?F<6=OE >?F<G5E><E E<EF5< (��%) =4 5475 75D>4?4 E G?D46?O5<>= D>D-

<>= ?>65DE=>EF< 5<<>DD=>7> F<?4 (D<E. 3, ?564O ?4=5?L) < >5D4F=>= E6O7LN, 

D54?<7>64==>= ?>ED54EF6>< 44FG<>4 6>?=>6>7> DD>=F4 ,4>4 3 �4DF<4=4 (D<E. 

3, ?D464O ?4=5?L). � G4EF=>EF<, >?<EO645FEO D54?<74F<O >5D4F=>= E6O7< G5D57 

<5F>4 D47>6>7> E>?DO65=<O [24] , >4> >?NG56>= <5F>4 4>F<6=>= >>DD5>F<< 6>?-

=>6>7> DD>=F4; >5>7=4G4NFEO >E=>6=O5 ?D>5?5<O, E=<64NM<5 F>G=>EFL >>D-

D5>F<<, E6O74==O5 E <7<5D5=<5< D47=>EF=OE <E>465=<= 6 4<47=>EF<G5E>>< 

FD4>F5 ?475D=>7> <7?GG5=<O 3 >4?<5D>6>>= ��%.  
�5F>4 D47>6>7> E>?DO65=<O ?>76>?O5F EF45<?<7<D>64FL 6>?=>6>= DD>=F 

>F=>E<F5?L=> F5?56>= D>D<O E 6OE>>>= F>G=>EFLN (>7D4=<G5==>= 6 ?5D6GN 

>G5D54L 6>7<>6=>EFO<< 45D>D<<DG5<>7> 75D>4?4 > D>D<<D>64=<N FD55G5<>7> 

?D>D<?O), => ?D<EGFEF6<5 4?D<>D< =5<765EF=OE D47=>EF=OE <E>465=<= 6=>E<F 

6 F5?56GN D>D<G =5>?D545?5==>EFL, ?D<6>4OMGN, >4> ?D46<?>, > E=<65=<N 

>4G5EF64 E>>F65FEF6GNM5= D>>GE<D>6><. %GM5EF65==> ?>6OE<FL >4G5EF6> D>-

>GE<D>6>< G445FEO 74 EG5F 4>?>?=<F5?L=>= >4?<5D>6>< ��%. �4?<5D>6>4, >4-

=4>>, O6?O5FEO E?5F<D<G=>= 4?O >464>= D54?<74F<< < 4465 =4EFD>=><, >?F<-

G5E>>= EE5<O < 4>?6=4 ?D>6>4<FLEO 6 E>45 DGF<==>= =4EFD>=>< >?F<G5E>>= 

E<EF5<O. � D45>F5 ?D54?>65=O =>6O5 <5F>4O >4?<5D>6>< ��%, ?D<6>4OM<5 > 

EGM5EF65==><G ?>6OL5=<N >4G5EF64 D>>GE<D>6><. 
 

   

$<E. 3. 'EFD>=EF6> 5<<>DD=>7> 45D>D<<DG5<>7> 75D>4?4 (?564O ?4=5?L) < ?D<=F<?<-
4?L=4O EE5<4 D54?<74F<< >5D4F=>= E6O7< (?D464O ?4=5?L) ?D< <E?D46?5=<< 6>?=>6>7> 
DD>=F4 <7?GG5=<O 

 

� ?4D47D4D5 2.3 ?D54?4745FEO, ED54< ?D>G57>, =>6O= <5F>4 >4?<5D>6>< 

��% 3 4<=4<<G5E><= <5F>4, >E=>64==O= =4 GG5F5 4<=4<<G5E><E 455DD4F<= 

6>?=>6>7> DD>=F4. �<=4<<G5E><5 455DD4F<< D47?<G=OE 6D5<5==OE < ?D>-

EFD4=EF65==OE <4ELF45>6 ?D<EGFEF6GNF 6 >?F<G5E>>= EE5<5 ?475D4 ?> ?D<-

G<=5 F5??>6OE <E>465=<= >?F<G5E><E M?5<5=F>6 < <E >D5??5=<=, 4 F4>65 <7-

74 =4?<G<O FGD5G?5=F=OE <?< 4<=4<<G5E>< <7<5=ONM<EEO 6>74GL=OE ?>F>-

>>6. �<=4<<G5E><5 455DD4F<< ?D<6>4OF > ?5D5<5==><G 6> 6D5<5=< 
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D4EE>7?4E>64=<N <564G D>D<>= ?>65DE=>EF< 45D>D<<DG5<>7> 75D>4?4 < D>-

>4?L=O< D4E?D545?5=<5< <=F5=E<6=>EF<, <7-74 G57> F>G=>EFL >4?<5D>6>< ��% 

?D<=F<?<4?L=> E=<645FEO.  

%GFL 4<=4<<G5E>>7> <5F>44 >4?<5D>6>< 74>?NG45FEO 6 4>F<6=>= >>DD5>F<< 

4<=4<<G5E><E 455DD4F<=, ?D<EGFEF6GNM<E =4 6E>45 6 ��%, GF> ?>76>?O5F EF4-

5<?<7<D>64FL D>>4?L=>5 ?OF=> 6 =5>>F>D><, <7=4G4?L=> =5<454?L=><, E>EF>O-

=<<. �4?L=5=L4O >4?<5D>6>4 ?D><EE>4<F G65 =5 74 EG5F >?F<<<74F<< D>D<O 

45D>D<<DG5<>7> 75D>4?4 (>4> 45?4?>EL D4=55), 4 74 EG5F ?>45>D4 F5?56>= 

D>D<O 6>?=>6>7> DD>=F4, >F=>E<F5?L=> >>F>D>= >EGM5EF6?O5FEO D47>6>5 E>-
?DO65=<5. &4>>= ?>4E>4 FD55G5F F5E=<G5E>>= 6>7<>6=>EF< >4=>6D5<5==>7> 74-

E64F4 < E>6<5EF=>= >5D45>F>< 44==OE > D>>4?L=>< D4E?D545?5=<< <=F5=E<6-

=>EF< 6<5EF5 E 44==O<< > D4E?D545?5=<< 6 5?<6=5= 7>=5 <7?GG5=<O, 6>?NG4-

NM<<< D>D<G 6>?=>6>7> DD>=F4. �?O >55E?5G5=<O MF>= 6>7<>6=>EF< ?D>-

7D4<<=>5 >55E?5G5=<5 ��% 5O?> <>4<D<F<D>64=> 6 F5E=>< E>FDG4=<G5EF65 E 

<77>F>6<F5?O<< ��% [�14].  

�>?>?=<F5?L=>7> GE>65DL5=EF6>64=<O 4?7>D<F<4 >4?<5D>6>< ��% G44-

?>EL 4>5<FLEO 74 EG5F ?5D5E>44 >F DG=>F<= >F>?<>4 >F45?L=OE M?5>FD>4>6 45-

D>D<<DG5<>7> 75D>4?4 > <E ?<=5==O< >><5<=4F<O<, 4??D>>E<<<DGNM<< ?>-

?<=><O &5D=<>5 [�14]. �<7><5 ?>DO4>< ?>?<=><>6 &5D=<>5 E>D>L> E>>F65F-

EF6GNF E?5F<D<G5E><< 4?O >?F<G5E><E E<EF5< 455DD4F<O<, GF> 4>?GE>45F 
445>64F=GN 4??D>>E<<4F<N <5=LL<< G<E?>< G?5=>6 D47?>65=<O <, >4> E?54-

EF6<5, ?>76>?O5F 4>?>?=<F5?L=> ?>4=OFL E>>D>EFL EE>4<<>EF< 4?7>D<F<4 < 

F>G=>EFL =4E>645=<O 7?>54?L=>7> <4>E<<G<4. �>?>?=<F5?L=O< L47>< > ?>-

6OL5=<N F>G=>EF< >4?<5D>6>< EF4? >D<7<=4?L=O= 4?7>D<F< ?>6OL5=<O F>G-

=>EF< <7<5D5=<O G<E?4 ,FD5?O ?> D>>4?L=O< <7>5D465=<O< E <E?>?L7>64-

=<5< ?>4E>44 DGDL5-D<?LFD4F<<, >?<E4==>7> 6 ?4D47D4D5 2.4.  

�E?>?L7>64=<5, ?>E?5 6E5E GE>65DL5=EF6>64=<=, 4<=4<<G5E>>7> <5F>44 

>4?<5D>6>< 6 E6O7>5 E >?F<<<74F<5= ?> ?>?<=><4< &5D=<>5 ?>76>?<?< EGM5-

EF65==> ?>4=OFL F>G=>EFL >4?<5D>6>< ��% <, >4> E?54EF6<5, >4G5EF6> ?>E?5-

4GNM5= >>DD5>F<<. � =4EFD>5G=>< >647<=5?D5DO6=>< D56<<5 E 6OE>>>= EF4-

5<?L=>EFLN <7?GG5=<O =4 >><??5>E5 PEARL 5O?> ?D>45<>=EFD<D>64=> G<E?> 
,FD5?O, ?D56OL4NM55 0.86. 

� ?4D47D4D5 2.5 ?D>45<>=EFD<D>64=4 MDD5>F<6=>EFL 6=54D5=<O ?D54?>-

65==OE GE>65DL5=EF6>64=<= 6 <5F>4 >4?<5D>6>< ��% =4 ?475D5 PEARL. �5-

<>=EFD4F<O ?D>6545=4 >4> 6 =4EFD>5G=>< >647<=5?D5DO6=>< D56<<5, F4> < 6 

D56<<5 >F45?L=OE 6OEFD5?>6 E <>M=>EFLN, 5?<7>>= > <4>E<<4?L=>=, 4>EF<-

6<<>= =4 =<7>>= G4EF>F5 ?>6F>D5=<O =5 5>?55 1 D474 6 20 <<=GF. �>DD5>F=4O 

>4?<5D>6>4 E<EF5<O ?>76>?<?4 G65?<G<FL G<E?> ,FD5?O E> 7=4G5=<O S = 0.3 4> 

S > 0.7 (D<E. 5, 65DE=<5 ?4=5?< (4)), GF> 5?<7>> > D5>>D4=><G 7=4G5=<N =4 E>-

6D5<5==OE E<EF5<4E ?5F464FF=>7> GD>6=O <>M=>EF< < E>>F65FEF6G5F 5>?55 G5< 

46G>D4F=><G ?>6OL5=<N ?<>>6>= <=F5=E<6=>EF< =4 <<L5=<. 
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$<E. 4. �D<=F<?<4?L=4O EE5<4 M>E?5D<<5=F>6 ?> >>DD5>F<< =5?<=5==OE D47>6OE <E>4-
65=<= ?>E?5 =5?<=5==>7> G>>D>G5=<O CafCA. �5>7=4G5=<O =4 D<EG=>5: KDP 3 =5?<=5=-

=O= M?5<5=F; %�1, %�2 3 G<D?<DGNM<5 75D>4?4; W1, W2 3 EF5>?O==O5 ??4EF<=O 557 
=4?O?5=<O, DM 3 75D>4?> E G?D46?O5<>= D>D<>= ?>65DE=>EF<, OAP 3 6=5>E56>5 ?4D4-
5>?<G5E>>5 75D>4?>, P 3 ?5D<E>>?, ML 3 <<>D>E>>?<G5E><= >5N5>F<6, L13L4 3 ?<=7O, 
PBS 3 G7>>?>?>E=O= D<?LFD; WFS1, WFS2 3 44FG<>< 6>?=>6>7> DD>=F4; CCD1, CCD2 3 
D>>4?L=O5 >4<5DO 

 
� ?4D47D4D5 2.6 D4EE<>FD5= <5F>4 >><?5=E4F<< ?D< ?><>M< 45D>D<<DG5-

<>7> 75D>4?4 =5?<=5==OE D47>6OE <E>465=<=, 6>7=<>4NM<E 6 E>45 =5?<=5=-

=>= ?>EF>><?D5EE<< ?475D=>7> <<?G?LE4 CafCA [10]. ->E?5D<<5=F4?L=4O G4EFL 

<EE?54>64=<O ?D>6>4<?4EL 6 ?475D=>= EE5<5, <7>5D465==>= =4  

D<E. 4.  

�5F>4 CafCA >E=>64= =4 =5?<=5==>< GL<D5=<< E?5>FD4 ?475D=>7> <<-

?G?LE4 ?D< E4<>6>745=EF6<< 6 F>=>>= =5?<=5==>= ED545 E ?>E?54GNM5= >><-

?5=E4F<5= >EF4F>G=>= >644D4F<G=>= 4<E?5DE<< ?D< ?><>M< E?5F<4?L=> <77>-

F>6?5==OE G<D?<DGNM<E 75D>4?. CafCA 4>?GE>45F <=>7>>D4F=>5 G>>D>G5=<5 

4?<F5?L=>EF< <<?G?LE4 ?D< =5EGM5EF65==OE ?>F5DOE M=5D7<<, GF> E>>F65F-

EF6G5F D4>F<G5E>< ?D>?>DF<>=4?L=><G MF><G G>>D>G5=<N D>EFG ?<>>6>= <>M-

=>EF<. �46=>= >E>55==>EFLN =5?<=5==>7> G>>D>G5=<O O6?O5FEO 6>7=<>4NM4O 
<7-74 ?D>EFD4=EF65==>= =5>4=>D>4=>EF< <EE>4=>7> <<?G?LE4 ?D>EFD4=EF65=-

=4O =5>4=>D>4=>EFL 6D5<5==OE < E?5>FD4?L=OE ?4D4<5FD>6 <7?GG5=<O, >>F>-

DO5 5EF5EF65==> =47O64FL =5?<=5==O<< D47>6O<< <E>465=<O<<. �D<EGFEF6<5 

=5?<=5==OE D47>6OE <E>465=<= ?D<6>4<F > 457D444F<< D>>4?L=>7> ?OF=4 < 

E=<65=<N ?<>>6>= <=F5=E<6=>EF< ?D< D>>GE<D>6>5 (E<. <7>5D465=<O =4 F5=-

FD4?L=OE ?4=5?OE D<E. 5, b, c). 

 

W1

W2
DM

CM1

CM2

KDP

WFS1

WFS2

CCD2

CCD1

OAP

air - vacuum 

interface

PML
L1L2L3

L4 BPS

16 

 
 
$<E. 5. �D<<5DO ?>6OL5=<O >4G5EF64 D>>GE<D>6>< ?D< ?><>M< 444?F<6=>= >?F<G5-
E>>= E<EF5<O: >>DD5>F<O 6 ?<=5==>< E?GG45 (65DE=<5 ?4=5?<), 457D444F<O D>>4?L=>7> 
?OF=4 6E?54EF6<5 =5?<=5==OE D47>6OE <E>465=<= (F5=FD4?L=O5 ?4=5?<) < 6 E?GG45 <E 
>>DD5>F<< ?D< ?><>M< 75D>4?4 E G?D46?O5<>= D>D<>= ?>65DE=>EF< (=<6=<5 ?4=5?<) 

 
�E=>6=>= E?>6=>EFLN >><?5=E4F<< =5?<=5==OE D47>6OE <E>465=<= O6-

?O5FEO =4?<G<5 ?D>EFD4=EF65==>= =5>4=>D>4=>EF< 6D5<5==OE E6>=EF6 <7?GG5-

=<O 3 F4> =47O645<>5 ?D>EFD4=EF65==>-6D5<5==>5 74<5L<64=<5. �7-74  
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74<5L<64=<O D47>6O5 <E>465=<O EF4=>6OFEO E?5>FD4?L=> 746<E<<O<<, GF> 45-

?45F <E ?>?=>F5==O5 <7<5D5=<O ?D< ?><>M< 44FG<>4 ,4>4 3 �4DF<4=4 =56>7-

<>6=O<< <7-74 =4?>65=<O >F?<G4NM<EEO D>D< 6>?=>6OE DD>=F>6 =4 D47?<G-

=OE 4?<=4E 6>?=. �7<5D5=<O D>>4?L=>= <=F5=E<6=>EF< F4>65 EF4=>6OFEO <5-

=55 F>G=O<< <7-74 6>7=<>4NM5=, ?> ?D<G<=5 74<5L<64=<O, ?D>EFD4=EF65==>= 

=5>4=>D>4=>EF< 6D5<5==>= >7<54NM5= <<?G?LE4, <7-74 G57> ?D>EFD4=EF65==>5 

D4E?D545?5=<5 D?N5=E4, <7<5DO5<>5 D>>4?L=>= >4<5D>=, ?5D5EF45F E>45D64FL 

<EG5D?O64NMGN <=D>D<4F<N > ?<>>6>= <=F5=E<6=>EF<, 4 >F5=>< ?<>>6>= <=-

F5=E<6=>EF< <>6=> E45?4FL F>?L>> =4 >E=>64=<< D4EG5F>6 <>4<D<>4F<< E?5>-
FD4 < E?5>FD4?L=>= D47O 6 =5?<=5==>< M?5<5=F5.  

% GG5F>< >E>55==>EF5= =5?<=5==OE D47>6OE <E>465=<= D4EE<>FD5=O 464 

<5F>44 D54?<74F<< >5D4F=>= E6O7<: (i) G5D57 44FG<> 6>?=>6>7> DD>=F4 ,4>4 3 

�4DF<4=4, 6>?NG4NM<= GED54=5=<5 44==OE > D>D<5 6>?=>6>7> DD>=F4 6> 6E5< 

E?5>FD4?L=>< <=F5D64?5 < (ii) E <E?>?L7>64=<5< =4 6E>45 44FG<>4 G7>>?>?>E-

=>7> D<?LFD4, ?D>?GE>4NM57> <7?GG5=<5 ?<LL 6 >>D5EF=>EF< F5=FD4?L=>= 

4?<=O 6>?=O. '<E?5==> ?>>474=>, GF> G4>6?5F6>D<F5?L=4O >5D4F=4O E6O7L 6>7-

<>6=4 6 >5><E E?GG4OE, =5 E<>FDO =4 6>7=<>4NM55 74<5L<64=<5 ?D>EFD4=-

EF65==>= < 6D5<5==>= 4<=4<<>< ?475D=>7> <7?GG5=<O. %?GG4= G7>>?>?>E=>7> 

D<?LFD4, >4=4>>, <>65F 5OFL 5>?55 ?D54?>GF<F5?L=O< 4?O M>E?5D<<5=F4?L=>= 

D54?<74F<< ?> ?D<G<=5 >FEGFEF6<O =5>5E>4<<>EF< 444?F<D>64FL 4<47=>EF<G5-
E><= >4=4? 4?O ?D>?GE>4=<O <7?GG5=<O E GL<D5==O< ?>E?5 CafCA E?5>FD><. 

�4 >E=>65 M>E?5D<<5=F4?L=OE 44==OE, ?>?GG5==OE =4 ?>?=>= ?475D=>= <>M-

=>EF<, ?>>474=>, GF> E>6<5EF=>5 <E?>?L7>64=<5 =5?<=5==>7> G>>D>G5=<O 

CafCA 6<5EF5 E >?<E4==>= 6OL5 ��% ?>76>?O5F ?>4=OFL ?<>>6GN <=F5=E<6-

=>EFL ?D< D>>GE<D>6>5 5>?55 G5< 6 6.5 D474 (F45?<F4 1).  

 
&45?<F4 1. ->E?5D<<5=F4?L=4O 45<>=EFD4F<O ?>6OL5=<O <=F5=E<6=>EF< ?475D=>7> <7-
?GG5=<O ?D< D>>GE<D>6>5, 4>EF<7=GF4O ?D< ?><>M< =5?<=5==>7> G>>D>G5=<O CafCA E 
<E?D46?5=<5< =5?<=5==OE D47>6OE <E>465=<= 
 

�>M=>EFL 
'<E?> (FD5?O  

4?O <=F5=E<6=>EF<  
�=F5=E<6=>EFL, 	

�F

E<!
 

0.25 ��F (15 �6, 60 DE, F/2.5) 
0.3 (557 ��%) 1.1 ; 10

%& 

0.72 (E ��%) 2.6 ; 10
%& 

1.5 ��F (15 �6, 10 DE, F/2.5) 

0.15 (557 ��%) 2 ; 10
%& 

0.52 (E ��%) 7.1 ; 10
%& 

1 (F5>D. ?D545?) 1.4 ; 10
%% 

 

� ?4D47D4D5 2.7 ?D><76>4<FEO >?<E4=<5 E>4=<DGNM57> <5F>44 =46545=<O 

=4 <<L5=L, ?>76>?ONM57> E EG5DM?556E>>= F>G=>EFLN ?><5M4FL >EFDO= (E MD-

D5>F<6=O< D44<GE>< 74>DG7?5=<O <5=55 G5F65DF< 4?<=O 6>?=O) >D4= <<L5=< 

6 ?5D5FO6>G ED>>GE<D>64==>7> ?475D=>7> ?GG>4 (D<E. 6). �?O M>E?5D<<5=F>6 E 

F65D4>F5?L=O<< <<L5=O<<, 6 >>F>DOE ?D54?>?4745FEO >EFD4O D>>GE<D>6>4 E 

4<4DD47<5==O< G<E?>< ~ F/1 ?>76>?O5F >55E?5G<FL EG5<<>D>==GN F>G=>EFL 

18 

=46545=<O 64>?L >E< ?475D=>7> <7?GG5=<O. �5F>4 =5 F>?L>> >55E?5G<? F>G=>5 

=46545=<5 =4 <<L5=< D47?<G=>= F>?>?>7<< ?475D=>-??47<5==OE <EE?54>64=<= 

?> D47?<G=O<< =4?D46?5=<O< [�4], => < ?57 6 >E=>6G >>=F5?FG4?L=>7> 4<74==4 

E<EF5<O 75><5FD<G5E>>7> E6545=<O D>>GE>6 4?O M>E464FF=>7> ?D>5>F4 XCELS 

[�12]. 

 

                
 
$<E. 6. �??NEFD4F<O <5F>44 =46545=<O =4 <<L5=L E EG5DM?556E>>= F>G=>EFLN 4?O F>=-
>>= D>?L7< ?> F>?>?>7<< ?5D5>DOF<O 5?<6=5= 7>=O <7?GG5=<O ?>E?5 D>>GE4 (437); <?-

?NEFD4F<O <5F>44 75><5FD<G5E>>7> E6545=<O D>>GE>6 ?475D=OE >4=4?>6 4?O ?D>5>F4 
XCELS (839)  
 

$57G?LF4FO �?46O 2 >?G5?<>>64=O 6 D45>F4E [�123�16, �213�23]. 

�?464 3 E>45D6<F >?<E4=<5 4<47=>EF<G5E><E 6>7<>6=>EF5= >><??5>E4 

PEARL 4?O ?D>6545=<O M>E?5D<<5=F>6 ?> ?475D=>-??47<5==><G 674<<>45=-

EF6<N, 6>?NG4O <E 444?F4F<N > ?4D4<5FD4< >>=>D5F=>= GEF4=>6>< < GE>65D-

L5=EF6>64=<5 <5F>4>6, ?>76>?ONM55 ?>6OE<FL <=D>D<4F<6=>EFL M>E?5D<<5=-
F4?L=OE 44==OE.  

� ?4D47D4D4E 3.233.3 >?<E4=O >E=>6>?>?474NM<5 4?O M>E?5D<<5=F>6 E <E-

E?54>64=<5< =4=>E5>G=4=>= ??47<5==>= 4<=4<<>< <=F5DD5D><5FD<G5E>4O < 

?>?OD<<5FD<G5E>4O 4<47=>EF<><. �F?<G<F5?L=>= >E>55==>EFLN M>E?5D<<5=-

F>6 =4 ?475D5 PEARL EF4?> <E?>?L7>64=<5 4?O >?F<G5E>>= 4<47=>EF<>< >E?45-

?5==>= D5??<>< E<7=4?L=>7> D5<F>E5>G=4=>7> <7?GG5=<O, GF> ?>6?5>?> 74 E>-

5>= FD< ?D<=F<?<4?L=OE <><5=F4. �>-?5D6OE, 5O? 4>EF<7=GF 6OE>G4=L<= 

GD>65=L E<=ED>=<74F<< E =4=>E5>G=4=O< 4D4=65D><, ?>76>?<6L<= E 6OE>>>= 

F>G=>EFLN <EE?54>64FL 6D5<5==GN 4<=4<<>G =4=>E5>G=4=>= ?475D=>= 

??47<O. �>-6F>DOE, D5<F>E5>G=4=4O 4?<F5?L=>EFL 7>=4<DGNM57> <<?G?LE4 

>55E?5G<64?4 >FEGFEF6<5 D47<OF<O ?D< 74E64F5 <7>5D465=<= =4=>E5>G=4=>= 
?475D=>= ??47<O. � 6-FD5FL<E, 4<74== D5<F>E5>G=4=>7> >4=4?4 <7?GG5=<O ?>4-

D47G<5645F 6OE>>>5 >4G5EF6> <7?GG5=<O, =5>5E>4<<>5 4?O >?F<<<74F<< 

4 

5 
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?4D4<5FD<G5E>>7> GE<?5=<O. �E5 MF< <><5=FO ?>76>?<?< ?>?GG4FL <7>5D465-

=<O <E>?NG<F5?L=>= G5F>>EF<, >55E?5G<64FL <E>?NG<F5?L=>5 6D5<5==>5 < 

?D>EFD4=EF65==>5 D47D5L5=<5 (D<E.7).  
 

 

$<E. 7. �D<<5D <=F5DD5D5=F<>==>7> <7>5D465=<O =4=>E5>G=4=>= ?475D=>= ??47<O (4), 
>7D4=<G5==>= E<?L=O< 6=5L=<< <47=<F=O< ?>?5<, < 6>EEF4=>6?5==>7> ?> =5= ?D>-
D<?O ?<=5==>= >>=F5=FD4F<< (8) E ?D><56GF>G=O<< L474<< (537) ?D<<5=5=<O 4?7>-
D<F<4 DGDL5-D<?LFD4F<< 
 

� ?4D47D4D5 3.4. >?<E4=O ?>4E>4O > 4<47=>EF<>5 E4D4>F5D<EF<G5E><E 
E?5>FD>6 E>5EF65==>7> E65G5=<O ?475D=>= ??47<O E <E?>?L7>64=<5< D>>GE<DG-

NM57> D5=F75=>6E>>7> E?5>FD><5FD4 E ?D>EFD4=EF65==O< D47D5L5=<5< (FSSR 

3 Focusing Spectrometer with Spatial Resolution). �D<=F<?<4?L=>5 GEFD>=EF6> 

FSSR <>6=> =4=F< =4 EE5<5, ?D54EF46?5==>= =4 D<E. 8. FSSR 4<47=>EF<>4 

EF4?4 >?NG56>= 4?O <EE?54>64=<=, E6O74==OE E ?475D=O< GE>>D5=<5< ?D>F>-

=>6, ?>E>>?L>G ?>76>?<?4 ?>?GG<FL 4>?>?=<F5?L=O5 44==O5 > ??>F=>EF< < 

F5<?5D4FGD5 D5<F>E5>G=4=>= ?475D=>= ??47<O, GF>G=<FL <5E4=<7< GE>>D5=<O.  

� ?4D47D4D5 3.5 ?D54EF46?5=> GEFD>=EF6> <47=<F=OE E?5>FD><5FD>6 G4-

EF<F. �?<EO64NFEO ?D>EF>= <47=<F=O= E?5>FD><5FD, E?5>FD><5FD «F><E>=>6-

E>4O ?4D45>?4» < >D<7<=4?L=O= >4=><<?G?LE=O= 46GEM>D4==O= E?5>FD><5FD, 

?>76>?ONM<= ?>4=OFL F>G=>EFL <7<5D5=<O E?5>FD>6 >647<<>=>M=5D75F<G=OE 
M?5>FD>==OE ?GG>>6, GE>>D5==OE ?475D><, 74 EG5F >>DD5>F=>7> GG5F4 =5>?D545-

?5==>EF< =4?D46?5=<O 6O?5F4 M?5>FD>=>6 <7 <EF>G=<>4. %>>F65FEF6GNM<5 

?D<=F<?<4?L=O5 EE5<O ?D<6545=O =4 D<E. 9. �D><5 MF>7>, 6 ?4D47D4D5 3.6 D4E-

E<>FD5=O E?><EFO5 45F5>F>DO 4?O ?D>F>=>6 < F>D<>7=>7> D5=F75=>6E>>7> <7-

?GG5=<O. $4EE<4FD<64NFEO <5F>4O >5D45>F>< M>E?5D<<5=F4?L=OE 44==OE 

< E?>E>5O ?>6OL5=<O ?D545?>6 45F5>F<D>64=<O M=5D7<< D57<EFD<DG5<OE G4-

EF<F. 
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$<E. 8. %E5<4F<G5E><5 <7>5D465=<O E?><EF>7> 45F5>F>D4 F>D<>7=>7> D5=F75=>6E>>7> <7-
?GG5=<O (?564O ?4=5?L) < D>>GE<DGNM57> E?5>FD><5FD4 E ?D>EFD4=EF65==O< D47D5L5-
=<5< 3 FSSR (?D464O ?4=5?L) 

 

  
 
$<E. 9. �47=<F=O5 E?5>FD><5FDO 74DO65==OE G4EF<F: 4 3 >4=>M>D4==O= E?5>FD><5FD, 
5 3 E?5>FD><5FD «F><E>=>6E>4O ?4D45>?4», 6 3 >D<7<=4?L=O= >4=><<?G?LE=O= 46GE-

M>D4==O= E?5>FD><5FD 

 
�4D47D4D 3.7 >?<EO645F >D<7<=4?L=O= <5F>4 G65?<G5=<O ?D>EFD4=EF65=-

=>= < 6D5<5==>= D47D5L4NM5= E?>E>5=>EF< >?F<G5E>>= 4<47=>EF<>< =4>4G>4-

7>=4<D>64=<5 5OEFD> ?5D5<5M4NM<EEO >5N5>F>6 ?D< ?><>M< =5?<=5==>7> 
G>>D>G5=<O D5<F>E5>G=4=>7> 7>=4<DGNM57> ?475D=>7> <<?G?LE4 CafCA.  

� >E=>65 <5F>44 ?56<F ?D>EF4O, =4 ?5D6O= 677?O4, <45O F>7>, GF> G>>D>G5=<5 

7>=4<DGNM57> <<?G?LE4 ?D<6>4<F > E=<65=<N D47<OF<O, <7>5D465=<= D5?O-

F<6<EFE><E >5N5>F>6. � >4G5EF65 4<47=>EF<DG5<>7> >5N5>F4 6OEFG?4NF M?5>-

FD>==O5 E<=7G?OD=>EF< M?5>FD>==>= ??>F=>EF< BISER [25], 6>7=<>4NM<5 ?D< 

674<<>45=EF6<< D5?OF<6<EFE>< E<?L=>7> D5<F>E5>G=4=>7> ?475D=>7> <7?GG5-

=<O E ?D>7D4G=>= ??47<>=. �EE?54>64=<O ?D>6>4<?<EL 4?O ?4D4<5FD>6 ?475D-

=>= E<EF5<O J-KAREN [26] (D<E. 10, 4).  

6) 
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$<E. 10. �D<=F<?<4?L=4O EE5<4 4?O M>E?5D<<5=F4?L=>7> <EE?54>64=<O D56<<4 BISER 
?D< ?><>M< =5?<=5==> G>>D>G5==>7> <5F>4>< CafCA 7>=4<DGNM57> <<?G?LE4 (4);  

b 3 ?D<=F<?<4?L=4O EE5<4 =5?<=5==>7> G>>D>G5=<O 7>=4<DGNM57> <<?G?LE4 E 45<>=-
EFD4F<5= <>4<D<>4F<< E?5>FD4 < 6D5<5==>= >7<54NM5=; E 3 D57G?LF4FO PIC-
<>45?<D>64=<O E>>F65FEF6GNM5= EFDG>FGDO ??47<5==>= 6>?=O 

 

� D45>F5 =4 >E=>65 M>E?5D<<5=F4?L=OE 44==OE > E?5>FD5 < E?5>FD4?L=>= 

D475 ?475D=>7> <<?G?LE4 =4 GEF4=>6>5 J-KAREN E =4G4?L=>= 4?<F5?L=>EFLN 

5>?55 45 DE, ?D< ?><>M< G<E?5==>7> <>45?<D>64=<O >>4><, <E?>?L7G5<O< 6 
D45>F5 [�15], 4?O 7444==>= 4<E?5DE<< 7DG??>6>= E>>D>EF< G<D?<DGNM<E 75D-

>4? 5O?4 D4EEG<F4=4 F>?M<=4 =5?<=5==>7> M?5<5=F4, >55E?5G<64NM4O =4 6O-

E>45 CafCA 4?<F5?L=>EFL <<?G?LE4 <5=55 12 DE. �>4<D<>4F<O E?5>FD4 <<-

?G?LE4 < 57> 6D5<5==>= >7<54NM5= ?D54EF46?5=O =4 D<E. 10, b. �>?GG5==O= 

F4><< >5D47>< <<?G?LE 5O? 74?GM5= 6 PIC-<>45?<D>64=<< D56<<4 BISER 6 

>4G5EF65 7>=4<DGNM57>, D4E?D>EFD4=ONM57>EO ?>?5D5> ?475D=>7> 4D4=65D4 

(D<E. 10, c). �> D57G?LF4F4< PIC-<>45?<D>64=<O 5O?4 ?D>6545=4 >F5=>4 E=<65-

=<O <=D>D<4F<6=>EF< LD<?5=-4<47=>EF<><, 6O764==>7> D47<OF<5< <7>5D465-

=<O D5?OF<6<EFE>>7> >5N5>F4 <EE?54>64=<O. �>>474=>, GF> G5FOD5E>D4F=>5 G>>-

D>G5=<5 7>=4<DGNM57> <<?G?LE4 ?D<6>4<F > D4>F<G5E>< G5FOD5E>D4F=><G 

E=<65=<N MDD5>F4 D47<OF<O 4<47=>EF<G5E>>7> LD<?5=-<7>5D465=<O D5?OF<-

6<EFE>>7> >5N5>F4. �D< MF>< 6>7=<>4NM<5 ?>E?5 =5?<=5==>7> G>>D>G5=<O 
?D54- < ?>EF<<?G?LEO =5 ?D<6>4OF > 4D4<4F<G5E>><G E=<65=<N >>=FD4EF4 

<7>5D465=<O.  

E) 
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�E=>6=O5 D57G?LF4FO �?46O 3 >?G5?<>>64=O 6 D45>F4E [�17, �243�29]. 

� �?465 4 4<EE5DF4F<< E>5D4=O <EE?54>64=<O D56<<>6 ?475D=>-??47<5=-

=>7> 674<<>45=EF6<O, 6 D57G?LF4F5 >>F>DOE 6>7=<>45F OD>4O 75=5D4F<O 6F>D<G-

=>7> <7?GG5=<O, 6 ?5D6GN >G5D54L GE>>D5==OE M?5>FD>=>6, M=5D7<O >>F>DOE 6 

44?L=5=L5< <>65F 5OFL ?D5>5D47>64=4 6 M=5D7<N 4DG7<E 6<4>6 6F>D<G=>7> 

<7?GG5=<O, F4><E >4> D5=F75=>6E>>5 <7?GG5=<5 < ?>F>>< GE>>D5==OE <>=>6. � 

D45>F5 ?D>6545=> >><??5>E=>5 <EE?54>64=<5 674<<>45=EF6<O D5<F>E5>G=4-

=>7> EG5F5D464FF=>7> <7?GG5=<O ?475D4 PEARL E <<L5=O<< D47?<G=>= >>=F5=-

FD4F<<, =4G<=4O >F D47D565==OE ?D>7D4G=OE, ?D5<<GM5EF65==>7> 747>6OE, 
<<L5=5= 4> <<L5=5= >>>?>>D<F<G5E>>= ??>F=>EF< < F65D4>F5?L=OE <<L5=5=.  

� G4EF=>EF<, 6 �4D47D4D5 4.1 ?D54EF46?5=O <EE?54>64=<O D47?<G=OE 64D<-

4F<= D56<<4 GE>>D5=<O M?5>FD>=>6 ?D< 674<<>45=EF6<< E 747>6O<< <<L5-

=O<<, 6>?NG4O F4> =47O645<O= E>7?4E>64==O= (?4D47D4D 4.1.1) < =5E>7?4E>-

64==O= (?4D47D4D 4.1.2) D56<<O GE>>D5=<O M?5>FD>=>6 6 ?>?5 ><?L64F5D=>= 

??47<5==>= 6>?=O, 6>75G645==>= D5<F>E5>G=4=O< ?475D=O< 4D4=65D><. �>4 

E>7?4E>64==O< D56<<>< 6 44==>< E?GG45 ?>=<<45FEO E<FG4F<O, 6 >>F>D>= <4E-

LF45O ED>>GE<D>64==>7> ?475D=>7> <7?GG5=<O E>6?444NF E <4ELF454<< ??47-

<5==OE >>?554=<=: 4?<F5?L=>EFL <<?G?LE4 E>>F65FEF6G5F ?>?>6<=5 ?5D<>44 

??47<5==OE >>?554=<=, 4 75><5FD<G5E><= D47<5D 4<DD4>F<>==>7> ?OF=4 ?5D5-

FO6>< E>6?4445F E ??47<5==>= 4?<=>= 6>?=O »p =	2Ãc/Ëp, 745 Ëp 3 ??47<5==4O 

G4EF>F4, 4 c 3 E>>D>EFL E65F4. 

'E>>D5=<5 M?5>FD>=>6 6 E>7?4E>64==>< D56<<5 EF4?> ?5D6O< M>E?5D<<5=-
F4?L=O< <EE?54>64=<5< ?475D=>-??47<5==>7> 674<<>45=EF6<O =4 ?475D=>< 

>><??5>E5 PEARL. �<5==> 44==4O E5D<O M>E?5D<<5=F>6 ?>4F65D4<?4 74O6?5=-

=O5 6 D45>F5 [1] D5>>D4=O5 ?4D4<5FDO ?475D=>7> <7?GG5=<O. � M>E?5D<<5=F4E 

6 >4G5EF65 <<L5=< <E?>?L7>64?<EL 747>6O5 EFDG< (D<E. 11, 4, 6), <E?GE>45<O5 

6 64>GG< <7 >>=<G5E><E E>?5? D47?<G=>7> 4<4<5FD4, >>=F5=FD4F<5= >>F>DOE 

<>6=> 5O?> G?D46?OFL, <7<5=OO 446?5=<5 =4 6E>45 6 E>??>. $>>GE<D>6>4 ?D>-

<76>4<?4EL ?D< ?><>M< 6=5>E56OE ?4D45>?<G5E><E 75D>4? 4<4DD47<5==O< 

G<E?>< F/6 < F/15 6 4<DD4>F<>==O5 ?OF=4 E ?<=5==O< D47<5D>< ?D<<5D=> 10 

< 20 <>< E>>F65FEF65==>. �?O MF>= E5D<< M>E?5D<<5=F>6 5O? D47D45>F4= >D<-

7<=4?L=O= 46GEM>D4==O= >4=><<?G?LE=O= M?5>FD>==O= E?5>FD><5FD, >?<E4=-

=O= 6 ?4D47D4D5 3.5, <E?>?L7>64=<5 >>F>D>7> ?>76>?<?> =5 F>?L>> <7<5DOFL 
M=5D75F<G5E><5 E?5>FDO >647<<>=>M=5D75F<G5E><E M?5>FD>==OE ?GG>>6, => < 

<EE?54>64FL D4E?D545?5=<5 GE>>D5==OE M?5>FD>=>6 ?> =4?D46?5=<N 6O?5F4 <7 

>5?4EF< 674<<>45=EF6<O. � G4EF=>EF< 5O?> ?>>474=>, GF> >647<<>=>M=5D75F<-

G5E><5 M?5>FD>==O5 ?GG>< E D57><<< G7?>6O<< >G5DF4=<O<< 6>7=<>4NF ?>E?5 

?D56OL5=<O P/PE (Pc 3 >D<F<G5E>4O <>M=>EFL 4?O E4<>D>>GE<D>6><) 7=4G5=<O 

464, ?D< >>F>D>< D>D<<DGNFEO >F45?L=O5 >647<<>=>M=5D75F<G5c><5 ?GG>< 

(D<E. 12, 7) E> E?5>FD4?L=O< <4>E<<G<>< 4> 300 �M� E D475D>E>< M=5D7<< ~ 

10 % < G7?>6O< D47<5D>< 5310 <D44. �>D>7>6O= E4D4>F5D 75=5D4F<< ?GG>>6 

E6O74= E 6>7=<>=>65=<5< D5?OF<6<EF>>= E4<>D>>GE<D>6>< ?475D=>7> <<-

?G?LE4. 
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4)         5)  

6)                      7)  
$<E. 11. �7>5D465=<5 E>??4 (4), 747>6>= OG5=>< (5) < E>>F65FEF6GNM<E ?D>D<?5= >>=-
F5=FD4F<<, ?>?GG5==OE 4?O 747>6>= EFDG< 6 E>45 <=F5DD5D><5FD<G5E>>7> <7<5D5=<O 
(6), 4 4?O 747>6>= OG5=>< 3 ?D< ?><>M< G<E?5==>7> <>45?<D>64=<O 747>4<=4<<>< (7) 

 

�4?L=5=L<= D>EF P/Pc ?D<6>4<F > G65?<G5=<N G7?>6>7> D47<5D4 ?GG>>6, 
G65?<G5=<N EG<<4D=>7> 74DO44 < D475<5=<N ?GG>>6 =4 =5E>>?L>> >F45?L=OE 

>647<<>=>M=5D75F<G5E><E ?GG>>6 (>?4EF5D<74F<5= M?5>FD>==>7> ?GG>4,  

D<E. 12, 6). � F4>>< D56<<5 ?>?GG5=O M?5>FD>==O5 ?GG>< E EG<<4D=O< 74DO4>< 

?D56OL4NM<< 300 ?�.  

�4?L=5=L<= D>EF P/Pc ?D<6>4<F > 5M5 5>?LL5<G D>EFG G7?>6OE D47<5D>6 

< ?D>?444=<N 6 ?GG>5 <>=>M=5D75F<G5E><E >E>55==>EF5= <, >4> E?54EF6<5, G5F-

><E >G5DF4=<= =4 45F5>F>D4E (D<E. 12, 5).  

%?54GNM4O M>E?5D<<5=F4?L=4O E5EE<O E GE>>D5=<5< M?5>FD>=>6 6 ?>?5 

><?L64F5D=>= ??47<5==>= 6>?=O 5O?4 ?>E6OM5=4 =5E>7?4E>64==><G D56<<G 

GE>>D5=<O < ?D>6>4<?4EL ?D< 5>?55 ?>?>7>= D>>GE<D>6>5 F/40, E D47<5D>< 4<-

DD4>F<>==>7> ?OF=4, ?D56OL4NM<< 40 <>< ?> ?>?G6OE>F5. �?O ?>6OL5=<O 

EF45<?L=>EF< D56<<4 < G65?<G5=<O 75><5FD<G5E>>= 4?<=O GE>>D5=<O E >4=>-
D>4=>= ??47<5==>= >>=F5=FD4F<< <E?>?L7>64?4EL 747>64O OG5=>4 >D<7<=4?L-

=>= >>=EFDG>F<<, D>F>7D4D<O < D4E?D545?5=<O >>=F5=FD4F<< 6 >>F>D>= ?D<65-

45=O =4 D<E. 11, 5, 7. �D>45<>=EFD<D>64= 7=4G<F5?L=O= D>EF M=5D7<< >FE5G>< 

(<4>E<<4?L=>= 74D<>E<D>64==>= M=5D7<< >F45?L=OE M?5>FD>=>6), ?> ED46=5-

=<N E E>7?4E>64==O< D56<<><. �O?< ?D>45<>=EFD<D>64=O M?5>FD>=O E M=5D-

7<O<< 5>?55 1 �M�, GF> 5?<7>> > D5>>D4=O< 7=4G5=<O< 4?O D56<<4 E4<>74E64F4 

557 <E?>?L7>64=<O 6=5L=<E G45D6<64NM<E >4=4?>6. 
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$<E. 12. �4==O5 M>E?5D<<5=F>6 ?> ><?L64F5D=><G GE>>D5=<N M?5>FD>=>6 6 E>7?4E>64=-
=>< (437) < =5E>7?4E>64==>< (8) D56<<4E. �D>45<>=EFD<D>64=4 EF4F<EF<>4 6OEFD5?>6 
(4, 8) < >4G5EF65==>5 <7<5=5=<5 E4D4>F5D4 M?5>FD>==OE ?GG>>6 ?D< D>EF5 >F=>L5=<O 
P/Pc: >F G7><E >647<<>=>M=5D75F<G5E><E ?GG>>6 (7) > >?4EF5D<7>64==O< ?GG>4< (6) < 4> 

?GG>>6 E L<D>><< G7?>6O< E?5>FD><, =5 >5?444NM<E <>=>M=5D75F<G5E><<< >E>55==>-
EFO<< (5)   
 

�4>E<<4?L=O5 M=5D7<< GE>>D5==OE M?5>FD>=>6 6>7=<>4?< ?D< >>=F5=FD4-

F<OE, 4?O >>F>DOE =4DGL4?EO ?D54E>474==O= �GE>6O< 6 D45>F5 [27] D56<< 

E>6?445=<O <4ELF45>6 ??47<O c 4<DD4>F<>==O<< D47<5D4<< ?475D=>7> <<-

?G?LE4 6 ?5D5FO6>5, F. 5. =5 6O?>?=O?<EL GE?>6<O E>7?4E>64==>7> D56<<4. �5N-
OE=O5FEO MF> =4?<G<5< 6 D54?L=>< M>E?5D<<5=F5 <564G 64>GG<>< <  >4=>D>4-

=>= ??47<>= ?5D5E>4=>= >5?4EF< >>=5G=>7> D47<5D4, <7D4NM5= 646=GN D>?L 6 

E>7?4E>64=<< D47<5D>6 ?GG>4 E <4ELF454<< ??47<5==>= 6>?=O. %4<>6>745=-

EF6<5 6 ?5D5E>4=>= >5?4EF< 6?<O5F =4 4<DD4>F<>==GN D4EE>4<<>EFL 

4) 
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<7?GG5=<O, >F>?>=OO D47<5D ?475D=>7> ?GG>4 6 F>G>5 D>>GE4 >F E>7?4E>64==>7> 

7=4G5=<O < ?D<6>4O > ?>E?54GNM<< >>?554=<O< 4<4<5FD4 >4=4?4 6 >4=>D>4=>= 

??47<5 ?> E>4G GE>>D5=<O, E=<64O EF45<?L=>EFL 674<<>45=EF6<O < MDD5>F<6-

=>EFL ?5D544G< ?475D=>= M=5D7<< M?5>FD>=4<, 74E64G5==O< ><?L64F5D=>= 6>?-

=>=.  

� ?4D47D4D5 4.3 >?<E4=> M>E?5D<<5=F4?L=>5 <EE?54>64=<5 D56<<4 GE>>D5-

=<O <>=>6 ?>?5< 6<DFG4?L=>7> >4F>44 ('���, 6 4=7?<=E>>= ?<F5D4FGD5 3 

TNSA, Target Normal Sheath Acceleration). � D45>F5 ?D>45<>=EFD<D>64=O ?D>-

F>=O E M=5D7<O<< >FE5G><, ?D56OL4NM<<< 43.3 �M�. �4==O= D57G?LF4F =4 <>-
<5=F ?>?GG5=<O EF4? D5>>D4=O< 7=4G5=<5< 4?O ?475D=>7> GE>>D5=<O ?D>F>=>6 

?D< M=5D7<< ?475D=>7> 4D4=65D4 <5=55 10 �6.  
 

      

$<E. 13. ->E?5D<<5=F4?L=O5 44==O5 ?475D=>7> GE>>D5=<O ?D>F>=>6: 4 3 44==O5 F><E>-
=>6E>>= ?4D45>?O, 5 3 FSSR-E?5>FD E4D4>F5D<EF<G5E>>7> <7?GG5=<O ??47<O, 6 3 44==O5 
D44<>ED><=OE ??5=>>, 7 3 EF4F<EF<>4 ?> 6OEFD5?4<  

 
'E>>D5=<5 ?D><EE>4<?> ?D< D>>GE<D>6>5 E 4?5DFGD=O< G<E?>< F/4 ?475D-

=>7> <<?G?LE4 E M=5D7<5= 4> 10 �6 < 4?<F5?L=>EFLN >>>?> 50 DE =4 ?>65DE-

=>EFL F>=>>= 4?N<<=<56>= D>?L7< E F>?M<=>= 6 4<4?47>=5 >F 0.5 <>< 4> 10 

<><. %?5>FD GE>>D5==OE ?D>F>=>6 (D<E. 14) 5O? <7<5D5= E ?><>MLN EF>?>< 

D44<>ED><=OE ??5=>> (D<E. 13, 6). �OE>>GN MDD5>F<6=>EFL ?5D544G< M=5D7<< 
>F ?475D=>7> 4D4=65D4 > ??47<5 G44?>EL ?>4F65D4<FL 74 EG5F 44==OE >><??<-

<5=F4D=OE 4<47=>EF<>. �4 >E=>64=<< FSSR-4<47=>EF<>< (D<E. 13, 5) G44?>EL 

6>EEF4=>6<FL, GF> F5<?5D4FGD4 ??47<O 4>EF<74?4 300 M�, 4 >>=F5=FD4F<O 5O?4 

5?<7>4 > F65D4>F5?L=>=. �D< MF>< 5O?< >5=4DG65=O E?5>FD4?L=O5 

4) 

6) 

5) 

7) 
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>E>55==>EF<, E>>F65FEF6GNM<5 >5D47>64=<N «?>?OE <>=>6», E6<45F5?LEF6GN-

M<E > ?D<EGFEF6<< 65EF>>7> D5=F75=>6E>>7> <7?GG5=<O, 6>7=<>4NM57> 6 E>45 

F>D<>65=<O D47>7D5FOE ?475D>< M?5>FD>=>6. �D><5 MF>7>, =4 E?5>FD><5FD5 

«F><E>=>6E>4O ?4D45>?4» G44?>EL D47?<G<FL E?54O <=>7>74DO4=OE <>=>6, 

6>?NG4O <>=O 4?N<<=<O, < ><E?>D>44 (D<E. 13, 4).  
 

   

 

�OE>>4O MDD5>F<6=>EFL 674<<>45=EF6<O EF4?4 6>7<>6=>= 5?47>44DO 6OE>-

>><G >>=FD4EFG ?475D=>= E<EF5<O PEARL, E6>=EF65==><G ?475D=O< E<EF5<4<, 

?>EFD>5==O< =4 ?D<=F<?4E ?4D4<5FD<G5E>>7> GE<?5=<O G<D?<D>64==OE <<-

?G?LE>6. �D5<5==>= >>=FD4EF <=F5=E<6=>EF< ?475D=>= E<EF5<O E>EF46<? 2×108, 

=4 <4ELF455 0.5 =E ?D< ?>GF< ?>?=>< >FEGFEF6<< ?D54- < ?>EF-<<?G?LE>6 6=5 

6D5<5==OE D4<>> =4=>E5>G=4=>7> <<?G?LE4 =4>4G>< ?4D4<5FD<G5E>>7> GE<?5-

=<O. �4=><5D=>5 ��� <>45?<D>64=<5 ?>4F65D4<?>, GF> 744=OO 7D4=<F4 <<-

L5=< =5 D47DGL45FEO ?D54<<?G?LE><, 4 6>7=<>4NM4O 6 E>45 6>745=EF6<O ?D5-

4<<?G?LE4 ??47<4 =5 E=<645F MDD5>F<6=>EF< 674<<>45=EF6<O.  

� ?4D47D4D5 4.4 ?D54EF46?5=> M>E?5D<<5=F4?L=>5 <EE?54>64=<5 ?DO<>7> 

?475D=>7> GE>>D5=<O 6 E>45 674<<>45=EF6<O D5<F>E5>G=4=>7> EG5?5F464FF=>7> 

?475D=>7> <<?G?LE4 E ?>D<EFO<< <<L5=O<< <7 4F5F4FF5??N?>7O  
(D<E. 15, 4, 5), 6 D57G?LF4F5 <>=<74F<< >>F>DOE E>7445FEO E?>= ??47<O E >>=-

F5=FD4F<5=, 5?<7>>= > >D<F<G5E>>=. � M>E?5D<<5=F4?L=>= E5D<<, ?D<=F<?<-

4?L=4O EE5<4 >>F>D>= ?D54EF46?5=4 =4 D<E. 15, 6, M=5D7<O ?475D=>7> 4D4=65D4 

4>EF<74?4 20 �6, ?D< 4?<F5?L=>EF< <<?G?LE4 =5 5>?55 50 DE. �?O ?>6OL5=<O 

>4=>D>4=>EF< ??47<O <E?>?L7>64?EO G?D46?O5<O= =4=>E5>G=4=O= ?D54<<-

?G?LE E M=5D7<5= ?>DO4>4 1 �6, ?D<E>4OM<= =4 <<L5=L 74 =5E>>?L>> 

$<E. 14. ->E?5D<<5=F4?L=O5 E4D4>F5D<-
EF<>< ?D>F>==>7> ?GG>4, 6>EEF4=>6?5==O5 
?> 44==O< E RCF-EF5>4: 4 3 E?5>FD;  
5 3 ><=5F<G5E>4O M=5D7<O (?564O L>4?4) < 
G<E?> (?D464O L>4?4) ?D>F>=>6 E M=5D7<5=, 
?D56>EE>4OM5= 7=4G5=<5, >F?>65==>5 =4 

7>D<7>=F4?L=>= >E<; 6 3 746<E<<>EFL G7?>-
6>7> D47<5D4 ?GG>4 >F ><=5F<G5E>>= M=5D-
7<< 
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=4=>E5>G=4 4> D5<F>E5>G=4=>7> 4D4=65D4. �D>45<>=EFD<D>64=> E>6?445=<5 

D57G?LF4F>6 E G<E?5==O< <>45?<D>64=<5<. 
 

      

      
 
$<E. 15. �<>D>E>>?<G5E>4O EFDG>FGD4 (4) ?5==>= <<L5=< < 55 6<4 6 >?D465 (5) 6 M>E?5-
D<<5=F4E ?> ?DO<><G ?475D=><G GE>>D5=<N, ?D>6545==OE E>7?4E=> ?D<=F<?<4?L=>= 

EE5<5 (6) E <E?>?L7>64=<5< E?><EF>7> 45F5>F>D4 (7) D5=F75=>6E>>7> <7?GG5=<O  

 
'<E?5==> ?>>474=>, GF> ?D54<>=<74F<>==4O 4<=4<<>4 ?475D=>= ??47<O <7-

D45F >?NG56GN D>?L 6 D56<<5 674<<>45=EF6<O, < ?D< ?D46<?L=> ?>4>5D4==OE 
?4D4<5FD4E <>65F 5OFL 4>EF<7=GF ��� ?D5>5D47>64=<O M=5D7<< ?475D=>7> 

4D4=65D4 6 ><=5F<G5E>GN M=5D7<N M?5>FD>=>6, ?D56OL4NM<= 50 %  

(F45?<F4 2). �D<G5< 6 >F?<G<5 >F GE>>D5=<O ><?L64F5D=>= 6>?=>= ��� 4>EF<-

745FEO 6OE>><< >>?<G5EF6>< GE>>D5==OE M?5>FD>=>6, ?D< ED46=<F5?L=> =<7>>= 

><=5F<G5E>>= M=5D7<< >F45?L=OE M?5>FD>=>6. �4<5>?55 ?5DE?5>F<6=O< 4?O 

5G4GM<E ?D<?>65=<= O6?O5FEO ?>EFD>5=<5 =4 MF>= EE5<5 <EF>G=<>4 F>D<>7-

=>7> D5=F75=>6E>>7> <7?GG5=<O ?D< 6>745=EF6<< GE>>D5==O<< M?5>FD>=4<< =4 

>>=65DF5D <7 65M5EF64 E 6OE>><< 74DO4>6O< G<E?>< Z. 
 

4) 

5) 

6) 

7) 
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&45?<F4 2. $4EG5F=4O MDD5>F<6=>EFL >>=65DE<< ?475D=>= M=5D7<< 6 ><=5F<G5E>GN M=5D-
7<N M?5>FD>=>6 ?D< ?DO<>< ?475D=>< GE>>D5=<< 4?O D47?<G=OE ?475D=OE ?4D4<5FD>6 

�4D4<5FDO 
�<4?47>=  
M=5D7<= 

PEARL, 7.5 �6 
2.0 ncr 

PEARL, 7.5 �6 
1.0 ncr 

PHELIX, 17.5 �6 
0.65 ncr 

'<E?>  

M?5>FD>=>6 

=4 1 �6 ?475D-

=>7> <<?G?LE4 

E > 3 MM� 3.4×1011 3.5×1011 1.96×1011 

E > 7 MM� 1.7×1011 1.5×1011 0.72×1011 

E > 30 MM� 1.7×1010 1.7×1010 0.62×1010 

E > 100 MM� 2.3×108 7.5×108 -- 

�>?=O= 74DO4 

(=�?) 

E > 3 MM� 408 420 510 

E > 7 MM� 203 180 187 

E > 30 MM� 22 20 15 

E > 100 MM� 0.3 0.9 -- 

�D>F5=F >F M=5D-

7<< ?475D=>7> 

<<?G?LE4 

E > 3 MM� 57% 56% 27% 

E > 7 MM� 44% 41% 17% 

E > 30 MM� 13% 13.5% 3.6% 

E > 100 MM� 0.43% 1.6% -- 
 

 

&& 
 
 

 
$<E. 16. �4 ?56>= ?4=5?< ?D54EF46?5=4 ?D<=F<?<4?L=4O EE5<4 M>E?5D<<5=F>6 ?> 6>7-
45=EF6<N '��� ?D>F>=4<< =4 5<>?>7<G5E><5 >5N5>FO. �G=>F<D>< 6O45?5=4 >5?4EFL 
D47<5M5=<O 5<><>4G?O E >?5F>G=>= >G?LFGD>= ��, G>><??5>F>64==>7> ??5=>G=O< 64-
>GG<=O< >>=>< ��, <47=<F=>= E<EF5<>= �% 4?O >55E?5G5=<O E5?4D4F<< '��� ?D>-
F>=>6 ?> M=5D7<O<; 6E?><>74F5?L=O<< 45F5>F>D4<< IP1 < IP2. �4 ?D46>= ?4=5?< ?D54-
EF46?5=O 55F4FD>==O5 D5=F75=>7D4D<G5E><5 <7>5D465=<O <>F>4 4?N<<=<56>= ?D>6>-
?>>< (4), <<>D>EE5<O (5) < E6>EF4 ?45>D4F>D=>= <OL< 
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�4D47D4D 4.5 >?<EO645F D47D45>F>G ?D<?>65=<= =4 >E=>65 ?>?GG5==OE <E-

F>G=<>>6 6F>D<G=>7> <7?GG5=<O E ?475D=O< 4D4=65D><. �?O MF<E F5?5= 5O? 

D47D45>F4= < E>5D4= 4>?>?=<F5?L=O= 64>GG<=O= <>4G?L (D<E. 16) 4?O 6>745=-

EF6<O =4 >5N5>FO, 6>?NG4O 5<>?>7<G5E><5. �>4G?L 5O? >5>DG4>64= ??5=>G=O< 

?46E4=>6O< >>=>< 4?O 6O6>44 <7 64>GG<4 6F>D<G=>7> <7?GG5=<O 557 EGM5-

EF65==>7> ?>7?>M5=<O. �D< ?><>M< <>4G?O 5O?< ?D>6545=O M>E?5D<<5=FO ?> 

D5=F75=>6E>><G <<<46<=7G =4 >E=>65 55F4FD>==>7> <EF>G=<>4 [28] D5=F75=>6-

E>>7> <7?GG5=<O < 6>745=EF6<N GE>>D5==O<< ?D>F>=4<< =4 >?5F>G=GN >G?L-

FGDG D4>4 L5=>< <4F>< G5?>65>4 HeLa Kyoto [29]. �O?4 ?D>45<>=EFD<D>64=4 
6>7<>6=>EFL ?>?GG5=<O >?5F>G=>= >G?LFGD>= 4>7O, ?D56OL4NM5= 1 �D, <7-74 

6>745=EF6<O ?475D=OE ?D>F>=>6. �?O >55E?5G5=<O E5?5>F<< ?> M=5D7<< 6 <>-

4G?L 5O? ?><5M5= <47=<F (�% =4 D<E. 16, ?564O ?4=5?L), >EGM5EF6?ONM<= D47-

65DF>G GE>>D5==OE ?D>F>=>6 ?> M=5D7<<.  

� E>45 M>E?5D<<5=F>6 E <<<46<=7>< 5O?< ?>?GG5=O D5=F75=>7D4D<G5E><5 

<7>5D465=<O ?D>6>?>><, <<>D>EE5<O < E6>EF4 <OL< E 744=5= ?4?>=, ?D54EF46-

?5==O5 =4 D<E. 16, 436 E>>F65FEF65==>. �>>474=4 D45>F>E?>E>5=>EFL ?475D=>-

??47<5==>7> <EF>G=<>4 6 >4G5EF65 <EF>G=<>4 D5=F75=>6E>>7> <7?GG5=<O 4?O 

<<<46<=74. �?O ?D4>F<G5E>>7> ?D<<5=5=<O ?>FD55G5FEO 44?L=5=L4O >?F<<<-

74F<O MDD5>F<6=>EF< 55F4FD>==>= 75=5D4F<<. 

�E=>6=O5 D57G?LF4FO �?46O 4 >?G5?<>>64=O 6 D45>F4E [�13�4, �7, �303
�36]. 

�EE?54>64=<O ?> =4?D46?5=<N «?45>D4F>D=4O 4EFD>D<7<>4» ?D54EF46?5=O 

6 �?465 5 4<EE5DF4F<<. &5<4F<>4 ?>O6<?4EL 6 ��$ $�� 5?47>44DO E>FDG4=<G5-

EF6G E DD4=FG7E><< GG5=O< �G?L5=>< $G>E>< 6 D4<>4E ?D>7D4<<O <5747D4=-

F>6. �45>D4F>D=4O 4EFD>D<7<>4 O6?O5FEO 6E?><>74F5?L=O< <5F>4>< 4EFD>D<-

7<G5E><E <EE?54>64=<=, >55E?5G<64NM<< 6>7<>6=>EFL <>45?<D>64=<O 6 >>=-

FD>?<DG5<OE GE?>6<OE ?45>D4F>D=>7> M>E?5D<<5=F4 4<=4<<>< >>E<<G5E>>= 

??47<O. �>M=O5 ?475DO, E?>E>5=O5 E>74464FL ?D< 6>745=EF6<< =4 <<L5=L 7>-

DOGGN ??>F=GN ??47<G, EF4?< G4>5=O< <=EFDG<5=F>< 4?O ?45>D4F>D=>7> <>-

45?<D>64=<O L<D>>>7> E?5>FD4 4EFD>D<7<G5E><E O6?5=<= [30, 35, �9, �11, 

�37], 6>?NG4NM<E <EE?54>64=<O G44D=OE 6>?= < ?>EFG44D=OE FGD5G?5=F=>-
EF5= ?D< 67DO65 E65DE=>6OE, 7<4D>4<=4<<G5E><E =5GEF>=G<6>EF5= 6 4>>D5F<-

>==>< 4<E>5 < >5?4>4E >EF4F>>6 E65DE=>6OE, <EE?54>64=<O <47=<F=>7> ?5D5E>-

54<=5=<O 6 76574=OE 6E?OL>4E < >>D>=4?L=OE 6O5D>E4E, <>45?<D>64=<5 4EF-

D>D<7<G5E><E 465F>6 6 <>?>4OE 765744E, >6474D4E < O4D4E 74?4>F<>, < F. 4. �E>-

5O= <=F5D5E ?D54EF46?ONF M>EFD5<4?L=O5 4EFD>D<7<G5E><5 >5N5>FO, E>45D64-

M<5 =5D46=>65E=GN ??47<G <?< E>744NM<5 E<?L=O5 <47=<F=O5 ?>?O, >F65F-

EF65==O5 74 4<=4<<>G, GE>>D5=<5 < <7?GG5=<5 G4EF<F [36]. 

�4 ?475D=>< >><??5>E5 PEARL FD55G5<O5 M>E?5D<<5=F4?L=O5 GE?>6<O 

(D<E. 17) E>74464?<EL 6 ?D>F5EE5 674<<>45=EF6<O D5<F>E5>G=4=>7> <?< =4=>-

E5>G=4=>7> ?475D=>7> <7?GG5=<O E F65D4>F5?L=O<< <<L5=O<<, ?D< <>=<74F<< 

>>F>DOE E>74464?4EL 6OE>>>??>F=4O ??47<4, D4EL<DONM4OEO E> E65DE76G>>6>= 

E>>D>EFLN ?>DO4>4 1003500 ></E. 
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$<E. 17. &<?<G=4O M>E?5D<<5=F4?L=4O EE5<4 4?O ?D>6545=<O <EE?54>64=<= ?475D=>= 
??47<O 6 ?D<EGFEF6<< E<?L=>7> 6=5L=57> <47=<F=>7> ?>?O =4 >><??5>E5 PEARL.  

�13�4 3 ��%->4<5DO, �% 3 45?<F5?L=4O ??4EF<=4, � 3 ?>?OD<74F>D, � 3 ?<=74, b 3 G7>? 
D4EE>7?4E>64=<O ?>?OD<74F>D>6 6 >4=4?4E ?>?OD<<5FD<G5E>>= 4<47=>EF<>< 

 

�?47<4, 6>7=<>4NM4O ?>E?5 6>745=EF6<O =4=>E5>G=4=>7> <<?G?LE4 =4 <<-

L5=L, <<55F DG=>F<N D4E?D545?5=<O M?5>FD>=>6 ($$-), 5?<7>GN > D46=>65E-

=>=. �<=4<<>G ?>4>5=>= ??47<O E E>D>L5= F>G=>EFLN <>6=> >?<EO64FL E ?>-

<>MLN 7<4D>4<=4<<G5E>>7> <?< <47=<F>7<4D>4<=4<<G5E>>7> (���) ?>4E>-

4>6. $5<F>E5>G=4=O= <<?G?LE E>7445F ??47<G E =5D46=>65E=>= $$-, 6 >>F>D>= 

6O45?O5FEO 6OE>>>M=5D75F<G=4O 4=<7>FD>?=4O M?5>FD>==4O >><?>=5=F4. �>65-

45=<5 =4=>E5>G=4=>= < D5<F>E5>G=4=>= ?475D=>= ??47<O 6 ?45>D4F>D<< EG-

M5EF65==> >F?<G45FEO, 6 G4EF=>EF<, E4D4>F5D>< 6>7=<>4NM<E =5GEF>=G<6>-

EF5=. 

�4ELF45O M>E?5D<<5=F4?L=>= ?475D=>= ??47<O E>EF46?ONF 54<=<FO < 45-
EOF>< <<??<<5FD>6, GF> EGM5EF65==> <5=LL5 4EFD>D<7<G5E><E <4ELF45>6;  

E4D4>F5D=O5 6D5<5=4 6 ?45>D4F>D<<, E>EF46?ONM<5 45EOF>< =4=>E5>G=4, F4>65 

=4 <=>7<5 ?>DO4>< <5=LL5 F<?<G=OE 4EFD>D<7<G5E><E. ->6<64?5=F=>EFL ?4-

5>D4F>D=OE < 4EFD>D<7<G5E><E E<EF5< 4>EF<745FEO 74 EG5F G4>6?5F6>D5=<O 

>D<F5D<56 ?>4>5<O <?< <4ELF45<D>64=<O 3 E>5=?<=74.  

�>4E>4, <E?>?L7G5<O= 4?O <4ELF45<DG5<>EF< ?45>D4F>D=>= =4=>E5>G=4-

=>= < 4EFD>D<7<G5E>>= ??47<, >E=>64= =4 ?>4>5<< -=?5D4, ?>4D>5=> >?<E4=-

=>< 6 D45>F4E $NF>64 [35, 37339]. �?O E?GG4O <454?L=>= <47=<F=>= 7<4D>4<-

=4<<><, E<EF5<O E 5?<7>>= F>?>?>7<5= M6>?NF<>=<DGNF EE>6<< >5D47>< ?D< 

E>6?445=<< ?4D4<5FD>6 ?>4>5<O: Eu	= 	�(Ã/�)!/# 3 G<E?> -=?5D4 <  

³	 = 	8Ã	�/�#, 745 V 3 E>>D>EFL ?>F>>4, Ã 3 <4EE>64O ??>F=>EFL, �	 =

	�$(�%�% ++�&�&) 3 F5??>6>5 446?5=<5 (�$ 3 ?>EF>O==4O �>?LF<4=4, �%,& <  
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�%,& 3 >>=F5=FD4F<< < F5<?5D4FGDO <>=>6 < M?5>FD>=>6 E>>F65FEF65==>), 4 B 3 

<=4G>F<O <47=<F=>7> ?>?O. �>4>5<5 -=?5D4 ?D<<5=<<> F>?L>> 6 D4<>4E <45-

4?L=OE ���-GD46=5=<=, >>744 4<EE<?4F<6=O<< ?D>F5EE4<<, >>F>DO5 <>7GF 

6?<OFL =4 7<4D>4<=4<<>G, <>6=> ?D5=55D5GL. �?O ?D5=55D565=<O 4<EE<?4F<6-

=O<< G?5=4<< =5>5E>4<<>, GF>5O E?54GNM<5 ?4D4<5FDO 5O?< <=>7> 5>?LL5 

54<=<FO: G<E?> $5==>?L4E4 Re (>F=>L5=<5 E<?O <=5DF<< > 6O7>>EF<), >>F>D>5 

>F65G45F 74 6O7>GN 4<EE<?4F<N; <47=<F=>5 G<E?> $5==>?L4E4 Rem (>F=>L5=<5 

>>=65>F<< <47=<F=>7> ?>?O > <47=<F=>= 4<DDG7<<), >F65G4NM55 74 4<DDG7<N, 

E6O74==GN E >>=5G=>= ?D>6>4<<>EFLN; G<E?> �5>?5 Pe 3 >F=>L5=<5 <564G 

>>=65>F<6=O<< < <>?5>G?OD=O<< ?D>F5EE4<< ?5D5=>E4 F5??4 [37]. �?O E?GG4O 
D5<F>E5>G=4=>= ??47<O, 6 >>F>D>= 646=O ><=5F<G5E><5 MDD5>FO, ?D<<5=5=<5 

F>7> <?< <=>7> E>5=?<=74 EF4=>6<FEO 5>?55 E?>6=O< 6>?D>E><, E?5F<D<G=O< 

4?O >>=>D5F=OE M>E?5D<<5=F4?L=OE GE?>6<=.  

� D4<>4E 4<EE5DF4F<< >7D4=<G<<EO D4EE<>FD5=<5< =4=>E5>G=4=>= ?475D-

=>= ??47<O, <EE?54>64=<5 >>F>D>= <=E?<D<D>64=> 4=4?>7<5= E 46G<O >?NG5-

6O<< ?D>F5EE4<< 76574>>5D47>64=<O: D>D<<D>64=<5 4EFD>D<7<G5E><E 465F>6 

< 4>>D5F<O 65M5EF64 =4 <>?>4O5 76574=O5 >5N5>FO. 

�D<5=F<D>< 4?O F5<4F<>< EF4?4 D45>F4 [�38], ?>E6OM5==4O ?45>D4F>D=><G 

<>45?<D>64=<N >>??<<4F<< 4EFD>D<7<G5E><E 465F>6 >4=>D>4=O< ?>?><44?L-

=O< <47=<F=O< ?>?5<, ?D54EF46?5==4O 6 D4745?5 5.4.1 4<EE5DF4F<<. &5E=<G5-

E>>= >E=>6>= ?>E?54GNM57> ?D>6545=<O ?>4>5=OE <EE?54>64=<= =4 >><??5>E5 
PEARL EF4?4 >D<7<=4?L=4O <47=<F=4O E<EF5<4 < 6>7<>6=>EFL 746545=<O 6 <<-

L5==GN >4<5DG >?F<G5E>< E<=ED>=<7>64==OE <>M=OE =4=>E5>G=4=>7> < D5<-

F>E5>G=4=OE <<?G?LE>6.  

�>??<<4F<O 4EFD>D<7<G5E><E 465F>6 3 ?N5>?OF=O= ?D<D>4=O= D5=><5=, 

=45?N445<O= =4?DO<GN 6 E>6D5<5==O5 F5?5E>>?O G <>?>4OE 76574=OE >5N5>-

F>6, 557 6>7<>6=>EF<, >4=4>>, D47D5L<FL <5E4=<7<O <E >5D47>64=<O.  

� D45>F5 [�38] =4 >E=>65 ?45>D4F>D=>7> <>45?<D>64=<O 5O? ?D54?>65= <5E4-

=<7<, E6O74==O= E ?D<EGFEF6<5< 6=5L=57> <47=<F=>7> ?>?O, >4> ?D46<?>, 6 4EF-

D>D<7<G5E>>= ED545 O6?ONM57>EO 6=5L=574?4>F<G5E><<.  

� ?D<EGFEF6<< 6=5L=57> <47=<F=>7> ?>?O ?45>D4F>D=4O ??47<4, 6>7=<>4-

NM4O ?>4 6>745=EF6<5< =4=>E5>G=4=>7> ?475D=>7> 4D4=65D4 E M=5D7<5= ?>-

DO4>4 10 �6, ED>>GE<D>64==>7> =4 ?>65DE=>EFL F>?EF>= F65D4>F5?L=>= <<-
L5=<, 45<>=EFD<DG5F E?5F<D<G5E>GN F>?>?>7<N (D<E. 18, 4, 5). �?47<5==O5 

?>F>>< D>D<<DGNF >465D=G 6 D>D<5 ?G>>6<FO, E> EF5=>4<< <7 5>?55 ??>F=OE 

?>F>>>6 ??47<O, >>F>DO5 EE>4OFEO 6 G44?5==>= >F <EF>G=<>4 =4 =5>>F>D>5 D4E-

EF>O=<5 F>G>5, 74 >>F>D>= >5D47G5FEO >>??<<<D>64==O= ?>F>>, E?>E>5=O= D4E-

?D>EFD4=OFLEO 557 7=4G<<OE <7<5=5=<= =4 5>?LL<5 D4EEF>O=<O. �4?<G<5 

F>G>< EE>645=<O ?>F>>>6, >5D47GNM<E >465D=G, ?>4F65D6445FEO 6 4EFD>D<7<-

G5E><E =45?N45=<OE EGM5EF6>64=<5< F>G5G=>7> <EF>G=<>4  

D5=F75=>6E>>7> <7?GG5=<O, >FEF>OM57> >F =4G4?4 6<4<<>7> <EF5G5=<O  

(D<E. 18, 7).  
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$<E. 18. �>??<<4F<O ??47<5==>7> ?>F>>4 >4=>D>4=O< ?>?><44?L=O< <47=<F=O< ?>-
?5<: 4 3 M>E?5D<<5=F4?L=>5 D4E?D545?5=<5 ?<=5==>= >>=F5=FD4F<< =4=>E5>G=4=>= ?4-
75D=>= ??47<O 6 ?D<EGFEF6<< E<?L=>7> 6=5L=57> <47=<F=>7> ?>?O; 5 3 ?D<=F<?<4?L=4O 
F>?>?>7<O >>??<<4F<<; 6 3 D57G?LF4FO ?>?=><4ELF45=>7> G<E?5==>7> <>45?<D>64=<O < 

7 3 4EFD>=><<G5E><5 =45?N45=<O F>G5G=>7> <EF>G=<>4 6 D5=F75=>6E>>< 4<4?47>=5, E>-
>F65FEF6GNM57> F>G>5 EE>645=<O G44D=>= 6>?=O 
 

� E>45 ?>E?54GNM<E <EE?54>64=<= D47?5F4 ?475D=>= ??47<O 6 ?D<EGF-

EF6<< 6=5L=57> <47=<F=>7> ?>?O, >?<E4==OE 6 D4745?5 5.4.2 4<EE5DF4F<<, 5O?4 

?>>474=4 6>7<>6=>EFL >5D47>64=<= >>??<<<D>64==OE <EF5G5=<= <>=<7<D>-

64==>7> 65M5EF64 =5 F>?L>> 6 >4=>D>4=><, => < 6 5>?55 E?>6=OE >>=D<7GD4-
F<OE <47=<F=>7> ?>?O, E6>=EF65==OE <47=<F>ED5D5 <>?>4OE 76574=OE >5N5>-

F>6 (E<. >5?4EFL 1 =4 D<E. 19, 4), 6 G4EF=>EF<, 6 cusp->>=D<7GD4F<<, D54?<74F<O 

>>F>D>= 6 ?45>D4F>D<< 6>7<>6=4 ?D< 6EFD5G=>< 6>?NG5=<< E>EF46?ONM<E 

<47=<F=GN E<EF5<G [�8, �4] >4FGL5> �5?L<7>?LF4, <7>5D465==>= =4  

4) 

5) 

6) 

7) 
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D<E. 19, 6. �E?< <EF>G=<> ??47<O =4E>4<FEO 6 >5?4EF< E<?L=>7> <47=<F=>7> 

?>?O, >>??<<4F<O <>65F ?D><7>=F< =4 <4ELF455 2Rb, 745 Rb = (6�/�#)!/( 3 

MF> F4> =47O645<O= D44<GE >EF4=>6><, E 3 M=5D7<O, 6?>65==4O 6 ??47<O, 4 B 3 

<=4G>F<O <47=<F=>7> ?>?O. �D< MF>< ?D54?>?4745FEO, GF> 2Rb =5 ?D56OL45F 

D47<5D >5?4EF<, 6 >>F>D>= <47=<F=>5 ?>?5 <>6=> EG<F4FL >647<>4=>D>4=O<. 

�4?55, =5E<>FDO =4 D4EE>645=<5 ?<=<= <47=<F=>7> ?>?O ?> E>4G D4E?D>EFD4-

=5=<O, G65 ED>D<<D>646L<=EO ?>F>> <>65F 46<74FLEO 6 >5?4EFL E?45>7> <47-

=<F=>7> ?>?O =4 5>?LL<5 D4EEF>O=<O, E>ED4=OO E6>N F>?>?>7<N.  

 

     
 
$<E. 19. �4 ?4=5?< 4 ?D54EF46?5=> EE5<4F<G5E>>5 <7>5D465=<5 ?D>F>76574O < >5?4EF5=, 
>>F>DO5 <>45?<DGNFEO 6 M>E?5D<<5=F5: 1 3 >5?4EFL D>D<<D>64=<O 465F4, 2 3 >5?4EFL 
4>>D5F<< 65M5EF64 =4 <>?>4GN 76574G. $4EG5F=O5 >>=D<7GD4F<< <47=<F=>7> ?>?O 6 <47-
=<F=>= E<EF5<5 < 6>7<>6=O5 F>?>?>7<< M>E?5D<<5=F4: 5 3 cusp->>=D<- 
7GD4F<O ?D< 6EFD5G=>< 6>?NG5=<< >4FGL5>, E>>F65FEF6GNM4O F>?>?>7<< <47=<F=>7> 
?>?O <7 >5?4EF< 1 =4 ?4=5?< 4; 6 3 >647<>4=>D>4=>5 ?>?5 ?D< 6>?NG5=<< >4FGL5> 6 ?>-
?GF=>< =4?D46?5=<<, E>>F65FEF6G5F >5?4EF< 2 =4 ?4=5?< 4 

 

�DG7<< 646=O< DG=44<5=F4?L=O< 6>?D>E><, D5L45<O< 6 D4<>4E =4?D46-

?5=<O «?45>D4F>D=4O 4EFD>D<7<>4», EF4?> <EE?54>64=<5 <5E4=<7<>6 4>>D5F<< 

<>?>4OE 76574, ?D54EF46?5==>5 6 D4745?5 5.3 4<EE5DF4F<<. �>>D5- 

F<O 3 ?D>F5EE G65?<G5=<5 <4EEO >5N5>F4 74 EG5F 74E64F4 6=5L=5= <4F5D<<. 

�D>F5EE 4>>D5F<< F<?<G5= 4?O <=>7<E F<?>6 4EFD>D<7<G5E><E >5N5>F>6, >F 

=4E>4OM<EEO 6 =4G4?5 E6>5= M6>?NF<< ?D>F>76574 4> O45D 74?4>F<>. �E=>6-

=O<< >5N5>F4<< <>45?<D>64=<O 6 D45>F4E, ?D>6>4<<OE =4 PEARL, 5O?< ?D>-

F>76574O, ?>7?>M4NM<5 <4F5D<N <7 >>DG64NM57> 4>>D5F<>==>7> 4<E>4, 6 

5) 

6) 
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=5>>F>DOE >5?4EFOE >>F>D>7> M=?5D>6> ?>4>5<5 E ?>F>>4<< ?475D=>= ??47<O 

6O?>?=O5FEO E E>D>L5= F>G=>EFLN.  

�F 4>>D5F<< =4?DO<GN 746<E<F M=5D7>6O45?5=<5, E?54>64F5?L=>, E65F<-

<>EFL 76574O, 4 F4>65 ?D>F5EE 75=5D4F<< >E5E<<<5FD<G=OE <EF5G5=<= (465-

F>6). &4><< >5D47><, <EE?54>64=<O <5E4=<7<>6 4>>D5F<< O6?ONFEO >?D545?O-

NM<<< 4?O ?>=<<4=<O E>44 M6>?NF<< 76574. � D57G?LF4F5 674<<>45=EF6<O <47-

=<F>ED5DO ?D>F>76574O E 4>>D5F<>==O< 4<E>>< 6>7=<>4NF E?>6=O5 >>=D<7G-

D4F<< <47=<F=OE ?>?5= < ?>F>>>6 ??47<O. �EFD>=><<G5E><5 =45?N45=<O =5 

?>76>?ONF >?D545?<FL F>G=O= EF5=4D<= 4>>D5F<<, ?>MF><G ?45>D4F>D=O5 M>E-
?5D<<5=FO ?> <>45?<D>64=<N 44==OE ?D>F5EE>6 >5?444NF >E>5>= F5==>EFLN. 

 

 
 

$<E. 20. �??NEFD4F<O <>45?< 4>>D5F<< 6 6<45 6>D>=>>. �D4E=O< ?DO<>G7>?L=<>>< 6O-
45?5=4 >5?4EFL, 6 >>F>D>= <47=<F=>5 ?>?5 4>?6=> >F>?>=OFL 4>>D5F<>==O5 ?>F>>< 6 

EF>D>=G ?>?OD=OE >5?4EF5= 

 
� ?<F5D4FGD5 =4<5>?55 ?>?G?OD=>= O6?O5FEO <>45?L 4>>D5F<< 6 6<45 6>D>-

=>> ("funnel flows" 6 74DG556=>= ?<F5D4FGD5), 6 >>F>D>= 4>>D5F<>==O5 ?>F>>< 

>F>?>=ONFEO <47=<F=O< ?>?5< < E?54GNF 64>?L <47=<F=OE ?<=<= > 6OE>><< 

L<D>F4<  ?>65DE=>EF< 76574O (D<E. 20, G5D=O5 >64?O). �4=4>> F4>4O <>45?L <7 

>4=>D>4=>7> 4<E>4 =5 <>65F >5NOE=<FL =45?N445<O5 64D<4F<< E65F<<>EF< =5-

>>F>DOE F<?>6 ?D>F>76574 [40]. �4?D<<5D, =5D57G?OD=O5 < E<?L=O5 6E??5E>< 

E65F<<>EF< =45?N44NFEO 6 4>6>?L=> M>7>F<G5E><E < <4?><7GG5==OE ?D>F>-

765744E F<?4 EXor < FUor [41]. �4==O5 6E??5E>< E6O7O64NF E ?D5DO6<EFO<< < 

<>M=O<< E>5OF<O<< <47=<F>ED5D=>= 4>>D5F<<, ?D<G<=4 >>F>DOE 4> E<E ?>D 
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F5??>6>= =5GEF>=G<6>EFLN 4<E>4 [45] < <47=<F=>= 4>F<6=>EFLN 76574O [46]. 

�4=4>> MF< 7<?>F57O >>=F5=FD<DGNFEO =4 <5E4=<7<4E 6>7<GM5=<O < =5 

GF>G=ONF ?D>F5EE 4>>D5F<<. � D45>F5 [�9], 45EFD47<DGOEL >F <5E4=<7<4 6>7<G-

M5=<O 4<E>4 < ?D54?>?474O, GF> ?>>4?L=>5 6>7<GM5=<5 G65 6>7=<>?>, <EE?5-

4>64?EO E4< ?D>F5EE 4>>D5F<<. �EE?54>64=<5 5O?> =4?D46?5=> =4 <7GG5=<5 
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35 

D4E?D>EFD4=OFLEO ?>?5D5> 6=5L=57> <47=<F=>7> ?>?O 6 >>D5EF=>EF< M>64F>D<-

4?L=>= ??>E>>EF<, <?< ??47<5==O5 ?>F>>< 5G4GF 46<74FLEO F>?L>> 64>?L 6=5L-

=57> <47=<F=>7> ?>?O < EF4?><64FLEO E> 76574>= 6 ?>?OD=OE L<D>F4E, >4> MF> 

<7>5D465=> E5DO<< >64?4<< =4 D<E. 20.  
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$<E. 21. �4==O5 D47?5F4 =4=>E5>G=4=>= ?475D=>= ??47<O ?>?5D5> 6=5L=57> <47=<F-
=>7> ?>?O, <7 F>G5G=>7> <EF>G=<>4 (439) < <EF>G=<>4, 6OFO=GF>7> ?>?5D5> <47=<F=>7> 
?>?O B (63>), 6 M>E?5D<<5=F4?L=>< <EE?54>64=<< <5E4=<7<>6 4>>D5F<< 

 

$57G?LF4FO <EE?54>64=<O EF4?< 6 >4>>=-F> EF5?5=< >>=FD<=FG<F<6=O<<. � 
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ED5D<G5E>>= >5>?>G>< <7 ??>F=>= ??47<O E >F=>E<F5?L=> D47D565==>= E5D4-

F56<=>=, D47?5F4NM5=EO >F <EF>G=<>4 (D<E. 21, 4, 5). �4 >5>?>G>5 ?> <5D5 D47-

?5F4 =4<5G4NFEO =5GEF>=G<6>EF< F<?4 $M?5O 3 &5=?>D4 6 6<45 >FD>EF>>6, 6<4-

=OE =4 <=F5DD5D>7D4<<4E 6 ??>E>>EF<, >D<5=F<D>64==>= ?>?5D5> <47=<F=>7> 

?>?O. � MF>F <><5=F 6D5<5=< 4<=4<<G5E>>5 446?5=<5 ??47<O ?D56OL45F <47-
=<F=>5 446?5=<5. �> <5D5 D4EL<D5=<O ??47<4 >EFO645F < E=<645F E6>5 446?5-

=<5 =4 <47=<F=>5 ?>?5. �<5EF5 E MF<< D476<64NFEO =5GEF>=G<6>EF<, ?D>EFD4=-

EF65==O= <4ELF45 >>F>DOE G65?<G<645FEO E> 6D5<5=5<, ?>>4 ??>F=4O >5>?>G>4 

>EF4=46?<645F E6>5 D4EL<D5=<5 < =4G<=45F EE?>?O64FLEO 64>?L ?>65DE=>EF< 

<<L5=<.  

6) 

7) 

8) 

>) 
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G6?5>4FLEO <47=<F=O< ?>?5<, => < 6 M>64F>D<4?L=OE >5?4EFOE <>?>4>= ?D>F>-

76574O, G5D57 O7O><, D476<64NM<5EO <7 ?>>4?L=OE =5GEF>=G<6>EF5= F<?4 $M?5O 

3 &5=?>D4. 
�E=>6=O5 D57G?LF4FO �?46O 5 4<EE5DF4F<< ?D54EF46?5=O 6 D45>F4E [�4, 

�11, �9, �373�48]. 
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